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aLnkpw I

ULULPSPRUY GLYLU2UONRESNAPLLE Z2ULENRE3 UL 4L U

“l ggwi hwht bnbnws whnt @1 wh wunquwani 1 & Minhnbbnn

1.1.1.

1.1.10.

1.1.11.

spyws th ABC tpwhy; wh quouwptbpnh Yonpoht wun-

Ukpp: Quubk|] wwupwqhsp
1) A(- 2212), B(34;45), C(- 2,-—35;2) A(2:3),B(65:87), C(-12:51);

3) A(0,0), B(42:56), C(- 2172); 4) A(- 3-5),B(69:25), (13558):
spdws ku ABC tpwhy) wh ququphknh Yyonpnhbwun-
tknn: MNuwnabti uninuwialintib, nitnnwbhint b, ek’
ppnipwmiljntu Enwblyjnr b k ABC-Y'

1) A(13), 364,-1), c(87), 2 A(21), B(1-2), C(- 42),

3) A(- 16), B(11), C(10:5), 4) A(-1310), B(- 10,9), C(-15),

5) A(- 3:4), B(- 19), C(9;5), 6) A(4:11), B(6:3), C(9;6):
Urughutttnh wropwiaph dnw awmitk1 wi twhuh UWEun,
npp hwjwuvwpuwywku k& hbEpwguwd M1(2;8) b M2(7;7
Ukwknha:

Onnhtwwnibtnh wrpwiarh dnw awntEr wi bwhuh UWEwn,

nph htnwynpnip)jntunp M1(2,12) Ytwhg (huph hhug

whguwd (ks put Mo(13) ytwpg:

Qb k1 wi twhuh Ukw, nnh hknwidnpnipinibn
wnpnwbapitnha b mndws btwha dhdr wmba hwdwuwn

ki’
1) M,(89) 2) M,(48)

Cl-mhh] w1 b Ewun; nnp hwlwvwnwwtu £t htEnwagdwd

b
M~ 7:4), M,(1-8), M,(1116) 4k wt p g
Spdwd L M¢Nhhmhnp U.Pughuﬁhnh wnwigph ypuw

quiak u1] Ly Jtwnp MPthlUnLhE 1hGh nminhn’
1) M(%2), N(6:3 S 2) M(22) N(5:-2)
autt] M(%2) ytwp bwdws wh @hdkwppy) M2 yEup
(1,0) § B(— = ) Ykwkpny whbgbnng nrgnph b jwndwdp;

8n1;g UWul, np A(3-5),B(-2-7)¢ C(181) ytwkpp
candnid bu kb ninnh dnu:

SpJwd i pwrnwiniunt hwinhwywl wg A(3,0)¢ C(_4;1)
cuguweribtnn: bkl dintu bnlnt qwawerlttnn:
Sndws Eh pwnwlhniunt Enbnt hunltwh
A(Z;'1)¢B(_1;3) ququpikpp: SGwbk; dyniuw LEplynt
ququpubpn:



1.1.12. Spdwd L Enwilj wh ABg¢gC ququpibhpp: Sunibk

tnuwh wnp nwa & wd >nowbwasdh R S, wowdhaon il

yhkuwpnhp'
1) A(- 3:6), B(9:-10), C(- 5:4), 2) A(39), B(4:2), C(10;10):
1.1.13. Uywgnighky np A(2;2); B(_ 1’6)1 C(_ 5’3) ¢ D(_ 2’._1) htwkpp
pwunwlnitunt cwawrbkn Ll:
1.1.14. A(4,2) ytwund nwpws t opowbwmghdsnpp 2np wod ¢

LUbnonnnhbtwwnw hi wrwmbapubknn: Quh k1 tnw
ounwldhnn b bEbhwpontn:

1.1.15. A("f_z)llhmnll nwupjuwd k R:52mnmq11qnq opo miwmqghd
npn 2nyowthni d k Ox wnwbgpnp: Qbbb 92p9o mbawmgdh
LEiwnnbn:

1.1.16. Spywd & ABC hnmhh]mh qmqmphhnn: Qb b
Ynnukph Uhptwhbukp hiw R
1) A(o,-2]3, F 4:6), C(80) 2) A(1 3 B(3: 5) c( 57)

LL17. quut, A(-2-3) B(25) ¢ C(70) qmqupttpny towhy; ub
Uhotwadtnh tnbwnnipinrtabubnn:

1.1.18. M, N, ¢ P 11hmhpn bpwhl) wh Ynqubph

tn Quik] ququpbhkpp’

1) M(2 1) /T/( ) ( 2:2), ) M(l;f-—zu)l, N(-22), P(4;4),
3) M(12), N(- 36), P(5:10)

1.1.19. Spdws Lu ABCD gnirquwhtinwgdh ptp ququpubtpp:

1??41(? %)nél(% :?)qc( 13) ") A(2:3), B(4-1),C(05):

3) A(0:7), B(2:2), C(3:4):
1.120. spqws 68 ACB ytwtpnn: AB huwnduwsp pwdwhd ws b
nhuu]muum dmuhnh: Guh kg prwdwmbdwt LEwknh

nhlhwnhk
1) Af 6,8), B(3; 4) -4; 2) Al-5-4) B(10:6)n=5;

3) A(1,1), B(10;7), n=3;  4) A(-26) B(8:6), n=3;
5) A(-1-2), B(9:3), n=5:

1121, sw; wup ts> np P@22u Q1t5) ytwipp AB huwwqusp
pwdwbnid Eh Epip hwjwovwp ywutph: Fwmb b A¢B
bEwknn:

1122.spqws t M(O0T) ytwp: dwut; Moyytwp-tpk hwj wah &
np M(4;7)11hm|3 M1M2 hwnjwsp pwdwint d k 2, 1hu1pu1'
PEponrp) wdp:



1.1.23. A

1.1.24.

1.1.25.

1.1.26.

1.1.27.

1.1.28.

1.1.29.

1.1.30.

1.1.31.

1.1.32.

1.1.33.

1.1.34.

1.1.35.

(~14) ¢ B(37) 5w pwybwbpng bwndush pw qubhy
wj bwhuh Cysw,np AC=4CB:
A(_3;_1)¢ B(2f4)& wj) pujtwbpnq hwwnywsé p

swpnt twlnt py] wh Jpwm qumbkE)] w) bywhuh C BGEw> nn
CB=3AC:

A(4;_2) ¢ 8(6;0)6 wj pujbwnkpnyg hwwujwsh

swupnt bwlhnrp) wmwbh Jpw quitty] w;) bwhuh C hbEw, nnp
CB=4AB:

Cl-mhh]_ A Bg¢gC qmqmphhpnq Enwilj wl AD

1) A(quh) I(11133)110( ”3 2) A(t-2), B(2-5), C(47):

Gwni b AB¢Cqu1qu1p11hpn11 Enwil) wo dhobwgdhph
dwh 4 & 11 y hu uk '
fimA(uE 3), B(1:4), 51(51;—1143, g)m A(f §,-2), B(6:8), C(11-1)
3) A(14), B(- 50), C(- 2-1)
SpJwd Eh Enwh 11] wl A(2;3), 8(3;1)(} wqupukpp b M(ZZ)

fhotwadtnh hwund wh Lkwun: Quh k1 Enllnnn
qug wpn:

E(45) ytwp AB huwwqush dpgbuwybut ks puy M(33)
U kun AB hwwnd wd n pwdwin o E 1:3

hwpwpbpnirpj wdp: Funb b A¢Bllhu1hp]3:

Ninhnt wmagbunt d k M1(_12;_13)¢ Mz(_z‘_5) JEuwtkpnyq:

Uinoinnh dpwawbk; w bwhuh bkw>nnh wepuglun

hwy wuwp k 3-C.

Ninhnt wiaguntd t M1(2;_3)¢M2(_6;5)llhmhIlDﬂ_: Uy

ninnh dnw awbki1 w twhuh LEw, nnh onnhlitwun

hwy wuwp k -5-C.

Ninhnt wiguni L A(7;_3)¢B(23;_6) JEwbkpnq:

Quut] wynningnh Oxmnmhgph hwwnmdwh § Ewp:

Ninphngt wmbhbghnr U Ek A(5;2)¢B(_4"_7)11hmhpnq: Qub kg

wynpningnhl Oyumulhgph hwndwh § &wup:

Spyws kL punwhly) wh queuputpp Al372) B3 -4)

C(5;_4) § D(5;8)-' Qubk)] phk p" by hwpuwpbpnt p) wdp k

AC wuyrnibwehdpn pwdwbnid BD wuyynitmahdn:
wn w1 wh awawrlbknn

Sndwd Ll D
A(-214) B(4-2), Cc(6-2) v D(610). aquus, AC¢BD
wihjnirbwgdbph hwundwb §J&Ewnp:



1.1.36.

1.1.37.

1.1.38.

1.1.39.

1.1.40.

1.1.41.

1.1.42.

1.1.43.

1.1.44.

1.2.1.

Snllul& Eh ABC bowhly) wh ququpibnpn: Zwodk] Gpw

1) AE2 -3), B(3:2), C(- 25); 2) A(-32), B(5-2), C(1:3);
3) A(3,—4), (- 2:3), C(4:5)
spyws tt ABC Enuwtly wh ququeiknpp: zwpdk; C

h ny wd ap wkpy u
D u/2\1(336 ( 135110 2uip) 2) A(2m1) 8641)11C]Z3L313] Rrie

Sndwd Eu anrawhbknpwadh Enkp cwawplknn’

A@37) B(2-3) C(-14) aquwsk; D gququppg AC

willnt twash wnwn wd rwndnnt el wh

Enbwnnitmint bn:

Q-mhh]_ AB¢C ququpiutpny] hwdwubr Erpwhl) wh
upnip L yhbwpnbp'

1) A(4:2) B( 2), c(16); 2) A(32) B(7:3) C(84):

Guni b A(2:1), B(5;3), C(— 7:7) ¢ D(— 7;5) ququpikpnq

hwdwubn pwluwi Y1 wh 6 winnt el wi Ukbwnnin:

awnat, A23) B(06) C(-15)D(01) ¢ E(t) ququputpny

hwdwubkn htcwib1 wi Swinni p1 wh bEuwmnnu

Gnwilbi wi vwhbnkup hwdwowp t 3-h> hub Enlbnt

ququpitpt tu ABN) ¢ B(1-3) ytwkpp: Quuk,
tpponpng ququpp> bph wj b gqubdnid Lk Oy wnwugph
Unw:

brwlbi wh dwbbnkup hwdwuwn t 4h, hub Enlbnt
ququpitpt tu A27)¢B0B-2) ytukpp: Quuk,
Eppopn gquwgupn, ipt w) @ quuadnit d E Ox wnwmbugph
Unw:

bruwbli wh dwbbtnbun hwdwuwn t 3h, hub tnbn:
ququpibpl El A(3;1) ¢ B(1;_3) YJhuwkpp: Guh b
tnnonnn Qwa wen> ek hwi muh {9 nn unw

Swunnip] wbh Y Ebwpnun quudynrd E Ox wnwigph

Unuw:
«“201nhn ahé

Mwn [

M3 7) (23) M;(66), M, (- 3-3), M5(3-1) Ms(-27) ytwbppg-
npn°tp kb phhws 2X-3Y-3=0 niqgnh ypuws hujy
npnup ny:



122. P(4y,) P0y,) Ps(-2y;5)P.(x,3) Ps(x,0), Ps(X54) y&wkpop
¢gWauynrd 3x-2y-6=0 nquhqpul: Qunuk) dynru
bnnnnhutwwbtknn:

1.2.3. Qn kg w)] 8@ ninnh hwdJwuwpnitdp, npnp Ox
wpwbgph htwjwqudnit d t & wuljnt tshul Oy

wn wmigphg yupnit d L bdh&ntp] wl hwwyd ws :
) @a=30°b=2 2)a=45b=-3 3)a=60°b=0

4 a=135%b=-2/5) a= arctg%, b=16) a=arctg4 b=2

7y a=120°% b=—1 8) o =150°, b=5:

1.2.4. Qn kg w1 ninnh hwdwuwnntitdn, nnh
whbgunt U Ek Mo(xoxyo)llhmnq L Oxulnulhgph htEwn
Jwqdnid B @ whalyjnr b’

1) @ =30° My(0.0)  2) @ =45° My(t3}  3) a =arctg4, M,(- 12}
4) @ = 60°, Mo(W3~1} 5) @ = arctg Mo(~ 14} 6) & = 120°, M, (13-

125, 9pty wyt niMPhwquwuwpnidpsnpnp Ox § Oy
wn mbgp Uknhag bwnpnnit d N
hwudwywunwu hwdt wp wp a¢b UEdnitp) wia hww-
Jws okop’

1) a=2, b=3; 2)a=-1b=1 3)a=5b=1
4) a=2,b=-3; 5) a=-3, b=-2

1.26. aunu b hbn§ w mnhnGtph wt YniGujhG
gnpdwhhglimp uw O/ wrwugphg Yuwpuws
hwwdws Gbpp ks ntpy;ntup’

1) 5x-y+3=0;2) 2x+3y-6=0; 3) 5x+3y +2=0;
4) 3x+2y=0; 5) 3y—-4=0; 6)4x+9y—10=0:

1.2.7. ZEwlh i w nhnGph  h Wy wu wnnt 0 knn On &
hwwyws o bkpnq’

1) 4x-3y-3=0;2)5x+y=2/3) y=3x-2, 4) x+2y -1=0:

1.28. Uwnni gt htwbhi w hwdwuwnnitdiubkntl
nitibkgnygninhnpubkpp’

1) 3x+7y - 21=0;2) 2y—3x=6;3)%+%=1; 4) 3x—4y =0;

5)x-%:1; 6) 2x+5=0; 7)4y-3=0:

129. snquws b o wi W wh Unndbnh
hwJwuwpnit Jubkpp: wab| tpwduwfbphbup’



1) 4x+3y-56=0, x-3y+10=0, x-2=0;
2) Xx+8y—-7=0, 3x-2y-4=0, 7x+y+19=0:

1.2.10. Spduwds L ABChnmhh] wlt gququpepubpp: Gp b
ﬁpmllnqdhpbhul wuwpnt dubkpp
1) A7) B(-20), C(2;—3‘J) ;2) A41), B(- 2,-53, C(-1-4).

1.2.11. Enwll) wh Eplyn quqg wp b btpp A(1:_2)¢B(2,3)
FJEwmEnpt Eu, hul C g wg wp n guiuynitd L
2X+y—2=0 IlLl’[Iﬂl ypw: G ko C qwqg wp h
ULnnnnhltwwnwniatbtnnr,ipk Epwitl) wit fwhEtnbkun
hwywuwp k 8-C.

1.2.12. Spdwd Eu gnrgumuhtnwgqdh Enlhnt YyanndEnh b
w1 nt twagdh hml]ulumnnthhnn‘
8x+3y+1=0, 2x+y—-1=0, 3x+2y+3=0:

Qunitbt] gwgupiubinh Unonnhitwwitbnpn:

1.2.13. Enwil) wh Eplhnit ququpbbkpnp A(2:_3)¢ B(3;_2)
LEwknpht Eu, hul LU Euwnpntun quiuydynit d k
3x-y-8=0 ningnh Jypw: Quuk] Eppnpn q w-
gwph Unnpnnhtwwnbknpnp,tph (pw dwlbptup hwjuuwn b
1.5:

1.2.14. Qp L M; ¢ M, U Ewkpndy whgltnnq ninnh
hwdwuwnnidn b gwitbk;] Tnw witlhint tw) hi
¢gnpdwulhgn .

1) M,(-12), My(35); 2) M,(2:1), M,(0:4); 3) M;(0,0), M,(13);
) M{3-1), M,(5-1); 5 My(41),M,(20)

1.2.15. Qwpyby htim§juw ninhnltpny uqigwo walynbn’
Dy=2x+3,y=2x-4; 2)y:4x—2,y:—%x+5;
3)y:%X+1,y:_;x+5; 4) 3x-2y+8=0, 6x—4dy +1=0,
5) Vox+y-3=02x-2J2y+3=0; 6) 2x-3y+5=0,5x-y+4=0;

Xy LN A .
NH——==17—+==1, 8) 5x+2y-5=0,4x-3y+8=0,
)5 3 8 2 ) 4 4

9) V3x—y-4=0,3x++/3y+2=0:

1.2.16.

Qnt] wyl ninnp hwjwuwpnudp, npl wiglmy L (— 3;7) ytwnny § qni-

quhtn £ mpywo ninnp6
1) 5y-2=0; 2) 4x-5=0;, 3) b&x-2y+1=0;
4 x+3y=4; 5) y=-2x+5; 6) 7x+3y-9=0:



1.2.17. Qpbp wjyl nnnh hwjwuwpnuip, npl wGglnd E (2,‘5) ytunny §

nnnuhwjug £ mpjwo minnhG’
1) x+2y-3=0; 2) 7x-3y+565=0;3) 9-4x=0;

1
4) 2y-7=0; 5) y=—§x+3; 6) y=x-4

1.2.18. Sndws L ninnuwilhi] wh Enlbn hnfllibnh
hwwuwpnt dubkpp  2X-3y+5=0,3x+2y-7=0 §
A(Z;_3): Gk dUyjnitu Eplhn:t

Unndbknph hwuwjuuuwpmiGbpn:

1-2-19-Sn1]u16 Eu ninnuwiulhi; wmat Enlnt UnndbEnh U
wihb1nt Gugdtknhag vEUh hwdwuwnpnt dbbknpn'
x-2y=0,x-2y+15=0¢ 7x+y—-15=0: Qi k|
ninnuwilhi] wh gquwg upepbbEnn:

1.220. @unu & P(-513) ytwh bhwdws ufl @hdbwphy)
ytup 2X-3Y-3=0n 1 qnp @Y wwndwdp:

1221.awut | PE64)yt wp wnnbyghwi 4x -5y +3=0 o\ g q p
dn w:

1.2.22. Qn kg wi nitnnh hwdwuwnntit dn, nnn
gnigquwuhbtn £FE mndwd nitnhniubbnhit b mugunit d
Eupwiag kg mbnnd’

1) 3x-2y-1=0,3x-2y-13=0; 2)5x+y+3=0, 5x+y—-17=0;

3) 2x+ 3y -6=0, 4x+6y +17=0,4) 5x+7y +15=0, 5x+7y +3=10:

1223, apnt; wlimpynh hwdwuwnnt dnsnnt whguntd
E 13x-7y—-6=0¢ 9x—4y—-5=0 npnGtiph h wwnd wh

hhmnt{§‘
1) Pranwhuwywg E 2)qmthhnﬁhphpnpq
wn w9 ht ntnht, ninnhG.
1.2.24. Qn kg wi U ninnh hwd wuouwnnuvdn, nnl

whgunid £ O9X—4y+17=0 § 7x+4y—-5=0 mnhnGtph
hwwd wh §&wnq §
1) anqLuhhnT:2X_3y+4:0n1r1r1]1h7
2) ninnuwhuw; wg § 6X+2Y+5=0n1 nq hu -

1.2.25. Sndwsd tin hnmhh]ulﬁ qug wp 0 En
A(6—4) B(-13),C(-3-2) apt| ququplEmy wugt
b hwlnhywlwg y oot phl qNQWL k. ninhnubknh
hwd wuwnni dubnn:

1.2.26. Sndubd kU Enwh b1 wh bnnutk
fhotuwybutpp MEOME3) M(34) Uuqity o w

Unndbtph hwyJwuuwpnit dubpnp:

=

B

=}
=2



1.2.27. Sndwsd [ Epnwlulhi wh quqgupbbknpn'

A(3’2) ( )C() G by Upw Ynndknph u
Uhotwadbttnh hwdwuwnnit dubnn:
1.2.28. Stk ( 4,2), (2 5)¢ C(5,0) quq uwpukpnq

Enwluli mt prwndnntipirnt bubtnh hwwd wh
LEwh Unnnpnnhtbtwwibnn:
1.2.29. qmuhl 5X+2y'10:0 nlr[r[llﬁ ]_lnnpqhhu_lmul] 1111

wp wbgplubtnh htw tpw hwndwi LTEwtnni d

hbwuqgqubagnuwusd ninnuwhw) mgubnh
hwdwuwnpnnit dubknn:

1.2.30. Sniws ko Epwhb Ui wh bnndknh
hwdwuwpnt Jubkpp' 4x-y-7=0,
x+3y—-31=0,x+85y~-7=0q nu t pw
rwnpndnntitplnt tutEtnpnh hwwndwiu § & wun:

1231, Uwwgnt gk np A(- 1), B(10), C(4:3) ¢ D(6:8)
qgquwgupubinpnnd pwnpwulinttn ubnuwb :

1232, uwyugnigt,, np Al02) (5), c( 3 7)¢ D(-2-4)
qgwg wpubnnd pwn wb i1 nt un

gqntitguwhbtnwaqghs Lk

1233 s pqus tu ABCD qniquhbnuwqsp A-3-1)¢ B(22)
cuqupittnn Swil) wowd bnh hwwd wt 4 &kwun'
QB0) ywqut, Ynqubtph hwduwawpnt 0kpop:

1234 awut, PE812) 4yt wp wypny tygpwu A2-3)¢ B(-51)
LEwEknnd wbgltnn nrtaonh dnw:

1.2.35. Qunl kg M1(8,'—9) Jtwh hwduwus w (uhdhmpbl})
ytwup AB4)u BC12) ybkwbkpng woigunng ntnnh
U wmwnmd wd p

1.2.36. Qn b wi ninnh hwd wuwnnidn, nntl
wbhgluntd A(21'3)11hu1n11h 2X_3y_8:0n1.qu
htwjwgqdnt d E 45Ou1hh]n1h:

1.2.37. Qn kg wi ninnh hwdwuwnntidn, nntl
wigtnid £ M2T) ytwng v 2X+3y+4=0 n v qqp
htwn Jwgqdni U k 450u1hh]n1.h:

1238. A(-45) ytwp puwnwiniun: ququpb E,> nph
whlyjntbwghdp gquaudni d k 7X_y+8=0n1111111
ynw: Ywmg d kg UondEnh i} dy1 ntitu
wily);nttwgdh bhwdJwuwpnrdiubkpnp:
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1.2.39

1.2.40

1.2.41.

1.2.42.

1.2.43.

1.2.44

1.2.45.

1.2.46.

1.2.47

1.2.48

+Sndwsd Eu pwmpnwlhnirunt Epnhnit hwinhwwlhwg
ququputnp A1) u C62):uwqit, yngdtpp
hwdwuwnnt dubtnn:

-E(l'_1)11hmg pwnpwlinitunt fhkubwpnub E>snpph dh
bnndn nulws k

X'2y+12:0nqub Jpw: @pbkp dynitu Ynnpdhph
hwdwuwnnt dubknn:

Sndws Eu Enpwblhi) wbt Enpnlnit quwagqupiabnn
A(_1012)yB(6;4) L pwpdpnip)jntaubiph hwuwduwh
Y& wp N(5"2): Gul by bppnpy gugupenp:
Sndusd Eu Enwmwulig wh Enlhnr qmqm]ahhnn‘
A(3;_1)yB(5;7) i1 Pwpndpnitp) nt bubph hwwndwh
ybup N(4-1). Tp b Yynnukph

hwdwuwnpnnit dubknn:

ABCt nwuy; wa dbte wpdqus tu AB yongun
hwd wuwp oo dp 5x—-3y+2=0,AM ¢ BN
prwndnntipi1nt bubtnh hwdwuwnnit dabknn
4x-3y+1=0¢ 7x+2y -22=0. Yuqd b Ujntu
ULondbEnh L rwndnnti p] wh

hwdwuwnpnnit dubtnn:

.SpJuws bt Eonwlhl; wh A(4;_1)qu.lqu1p]} U kpynt
ULhunnnubtnh hwdwuvwnpnnt dabknn
X_1:0,X_y_1:0: Guwqubk] Ynndiph hwwuw-
nnitdubknn:

Spdwd Eh Eowhly) wh B(Z,'G)qmqmpg E Untig U

quwgquwephg munywd pwndnnitpi wa b Yyhunnnh
hwjwuwpnt dubkpp' X-7y+156=0, 7x+y+5=0:

YwgquUdbti) ynndbinh hwdwuvwnnir dubnn:
ZEwhi w nitnhntubtnh hwdwuwnnit dubknn
pbpki unpdw] wkuph

1 4x—3y—10=0;2)%x—%y+10:0;3) 12x -5y +13=0;

4) x+2=0; 5) 2x—y—-+/5=0:
. Gl mpywo Ynp htinwynpnipyniGp mpwo ninnhg’
1) A(2—1) 4x+3y +10=0; 2) B(0-3) 5x 12y —23=0;
3) P(-23) 3x-4y-2=0; 4) Q(1-2), x-2y-5=0:
. Mupqty’ M(#-3) Ytwnp § YnnpphGunGhph uyqpGultnbpp pGwd b6
wnpywd ninnh Gn®)G Ynninud pb® mwppbp Ynndbpnid”
11



1) 2x-y+5=0; 2) x-3y-5=0; 3) 3x+2y-1=0;
4 x-3y+2=0; 5) 10x+24y +15=0:

1.2.49. {wyti mpjwd qniquhtin ninhnGph hinwynpmpjmGp’

)1 3x—4y—-10=0, 6x—8y+5:0;)2 S5x-12y +26=0, 5x-12y -13=0;

3 4x-3y+15=0,8x—-6y+25=04 24x-10y+39=0, 12x -5y -26=0

) )

1.2.50. A(2,'—5) Ytwp pwnwiynum ququpl E, nphp dh Ynnip pllwo E
X — 2y — 7 = 0 nunnh Ypw: {wpyt pwnwlniunt Swltipbup:

1.2.51. Uwywgnmghy, np 2x+y +3=0 ninhnp hwnmd L A(— 5,'1) ¢ B(3;7)
owjnwitntipny hwnywon:

1.2.52. Uwwgngh, np 2x-3y+6=0 mnnhnp sh hwwumnd M(— 2,'—3)§
N(%-2) owjpuilyhntpng hunuon:

1.2.53. Spywo GG mgnuGlyuG  Gpyme  Yonitph  hwjwuwpndGhpp
3x-2y-5=0,2x+3y+7=0 § dh ququpp' A(— 2,'1): {upyty nin-
nuGlyul dwybptiun:

1.2.54. Spywo GG pwnwlyywl hwonppnuul ququplbpp: Muwpqb, wyn
pwnwGyniGp memgh®y k pting’

1) A(-35), B(- 1-4), C(7—1), D(29); 2) A(-1:6), B(1-3), C(4:10), D(9,0):

1.2.55. Spywd b6 bowlljwG ququplipp’ A(-10-13),B(- 23), C(21): <wy-
ytiy B ququph htinwynpnipyniGp CE th9Gwqohg:

1.2.56. Qb wjG ninnp hwjwuwpnidp, nph htnwynpnipjnilp uyqplGuljtnpg
hwywuwp bt 3 dhwynpp, huy uyqpGulytinhg wyn nmnnhG hotgpwod
niqnuwhuwjwugp Ox wnwlgph htn juqimd & o wayymG’

1) a=45°% 2) a=120° 3) a=60° 4) a=135°

1.2.57. Qptp wpywo ninpnGbpny  Juqiqud  wyyniGGinh  Yhunpnltph

hwjwuwpnudGepp’
N x-3y+5=03x-y—-2=0;, 2)x-2y-3=0,2x+4y+7=0;
3) 3x+4y-1=0, 5x+12y -2=0,;4) 2x+9y -13=0, 7x -6y - 23=0:

1.2.58. Spywo b6 qniquhtinwqoéh btpym  Ynnibtpp'  7x—-24y —45=0,
3x+4y -5=0 § wlyniGuqotph hwwniwb Ytup' M(7,'1): Qb
gniquhtinuqoh pwpdpmipnGGtpn:

1.2.59. GnwGljwl ququplhpp  A(3-2), B(- 20) ¢ C(3:70) YhwbpG bG:
{uipytiy AD pwpdpmpjwl tipupmpjmGn:

1.2.60. Guqity 3x-y—-4=0¢ 2x+ 6y +3=0 nnhnltpny Juqijuwo wyh
w@yjub Yhunpnh hwuwuwpmdp, npp yuwpmGuynd k M(O,'O) Ytup:
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1.2.61.

1.2.62.

1.2.63.

1.2.64.

1.2.65.

1.2.66.

1.2.67.
1.2.68.

Ququity x+2y -11=0 ¢ 3x -6y —5=0 ninhnltpny Juquigud wjh
w@yjub Yhunpnh hwuwuwpmdp, npp wuwpmGuynd k M(1,'—3) Ytwp:
Yuqity 3x+4y-5=0¢ 5x—-12y +3=0 mnhnGtpny Yuqiquo
unip wilyjw@ Yhunpnh hwjwuwpnuin:

Yuquitp x-3y+5=0¢ 3x-y+15=0 mnphnltpny Juqijuwo pmp
wlyjwl Yhunpph hwjwuwnpnidp:

Spwo Gl tnwlljwl ququpbtpp: Aptp wjl wihwjwuwpmibtph
hwiwlywngqp, npnGg pwjwpwpmd Gl towlljwl GapphG Yhuwbtph

ynnpnhGwwmbtpp’
1) A(-8-3), B(4-12), C(810); 2) A(-57), B(7:-2), C(11:20);

3) A(-12-1), B(0:-10), C(412); 4) A(10), B(13-9), C(17:13);
5) A(-74), B(5-5), C(39);  6) A(-59), B(7.0), C(5:14):

{wppnipjuwl yYpw Gty wyl Ybtwmbph pwquinipnilp, npnGg Ynnp-
nhGwwbtpp pwjwpwpnd 66 wihwjwuwpmibGbiph htn§jw; hw-
dwlwnghG’

2x+y <2 y<x X+2y >0
1) \—-x+y<T1; 2) 2y =2x 3) i x-y<0 ;
y=0 X+y<2 x—4y>-6
5x+y-7<0 —x—yi; yi;(
4) {2x-2y-13<0;5) ;i;i; . ) ;y—>x;
7x-2y-320 B B
x—-y<1 y<0
;ig 2x-y <1 X+y=>0
7 x+ys1; 8) 1 x—-y=-1, 9)<2x-y<3:
y<0 x—-2y <0
y—-x<2
Qptp wpjwo  Ytwnphg powlGwqohlG  wwpgwo  pnpwthnnGtph
hwjwuwnpnudGtpp’

1) M(130) x*+y? =25;  2) M(-6;2), x*+y* =4
Qb a(ZX +3y - 1)+ ,B(X -2y - 4) = 0 ninhnGtph thGoh YGupnGp:

QuGt; wjyl nmqnp hwjwuwpndp, npp wwwulwlmd L
a(x + 2y - 5)+ ,8(3X -2y + 1) = 0 mnhnGtph thGohG §'

1) wlgGnui k A(3,'— 1) Ytwny; 2) wlglnud & O(O,'O) ytwny;
3) gniquhtin & Ox wnw(gphG; 4) qniquhtint Oy wnw(gphG;
qniquhtn t 4x+3y+5=0 6 ninquhwjwug t 2x+3y+7=0

nunh;

ninnhG:
13



1.2.69.

1.2.70.

1.2.71.

1.2.72.

1.2.73.

1.3.1.

1.3.2.

1.3.3.

1.3.4.

14

Spquo k a(5X -3y - 7)+ ,B(3X +10y + 4) =0 nphnGaph thmGop:
bGswyhup® C-h nphiypmd 4x — 3y + C =0 mnhnp wwunuwlmyd b wjn

thGghG:
Spquo k a(5X +3y - 7)+ ﬂ(3x +10y + 4) =0 mnnpnGaph thmGop:

hGswhuh® @ - ¢ nhwpnud ax+5y +9=0 nnhnp Wwnlulmy k

wyn thGohG:
Qult] wyG mnnp hwjwuwpndp, np wlgmd & 2x+y—-2=0 §

X -8y —23=0 mnphnGtph hwndwl Yenny § Yhund L M1(5,'—6) §
Mz(— 1,'—4) owjpwytntpny hwnywon:

Spjwo k a(3x -4y — 3)+ /5’(2x +3y - 1) =0 mnhnGtph hmGon:
GGty wyn thGoh wyl nignp hwjwuwpmip, nplG wGglnd L
A(1-2), B(4-4) ¢ C(6:1) ququpGtipny tnwljwa YhGwpntny:
Guqut] wyG mnnph hwjwuwpnidp, npG wigimy £ 3x+y-5=0 §
X-2y+10=0 nmhnGhph hwniwl Yann] § C(-71-2) Ytwnhg
htinwgywo t d = 5 shwynpny:

« 3 Gnypnnn Jwngh Ynptin
QG htn§yuy  powlGwqotiph  pwnwyphnp  §  YtGupnGh

YnnpnhGuwunGhpp’
1) X?+y®+4y =0; 2) x2 4+ y2 4 5x-5y +12=0;
3) 2x% + 27 —12x+y +3=04) 7x* + 7y? - 2x -7y - 1=0:
bGswhuh®  whpwdbipm  § pwdwpwp  wwydwbh nhypmd
Ax? + By2 +2Cx+2Dy +F =0 hwywuwpnip  hwlnhuwlmd L

powlwqoh hwywuwnnd: Ujn ppowlwqoh pwnwyhnp § YaGunnpnGh
UnnpphGwwmltpp wpmwhwjnb) gnpowlhgGtinh vhengny:
hGswhuph® qotp GG Wwwnybpnd htn§jw) hwjuwuwpmdGepp’

D y=9-x2; 2) y=—25-x;
3)X=—W; 4) X:W;

5) y=15+/64-x2; 6) y=15-64-x2;

7) x=-2-9-y?; 8) XZ_Z+W§

9) y=—3-V21-4x—x2; 10) x=—5-/40+6y-y?:

Ququtp wjl powlwqoéh hwjwuwpnip, npp npwthmd  E
3x +y — 18 = 0 minhnp, huy YaGunpnGp M(2,'2) ytwnG t:



1.35. uwqity (x-77+(y+2 =25 jpowlwqopG M(-37) Yhwnnu
nwnpywo pnwithnnh hwjwuwpnip:

1.36.  Uwqity M(%4) ytnhg (x-7° +(y+1F =9 rpowliwgohl wwupjus
onpwithnnGiph hwjwuwpmuiGtpp:

1.3.7. Yuwquby (X + 3)2 + (y + 1)2 =4 nowlwqdh wyl pnpuwthnnGhph hw-
JuwuwpnuiGhpp, npnGp qniquhtin GG 5x — 12y + 1= 0 nunnhG:

1.3.8. Uuquty (x - 2)2 + (y - 1)2 =9 § (x - 4)2 + (y - 3)2 =1 JpowGwqdtiph
nGnhwnip gnpwthnnGph hwjwuwpnuiGhpp:

1.3.9.  Yuwqub] 2powlwqoh hwjwuwnniip, tipk’

1) wyG whghmd £ uyqplwytnny, huy YaGupnGp C(6;-8) YtwG t;

2) A(3:2) ¢ B(- 16) ytantipp wpwiwqoh dwypultntpG bG;

3) wyl npuwihmu £ 3x — 4y + 20 = 0 ninnh(, huy YtGupnGp O(0,0) Yhnd t;

w6 whghnus £ A(377) ¢ B(- 1.3)yntipny, huly YhGupnGp quGynud
L 3x -y —2=0 ninnh Yypw;

5) wyl whgGmu t A(11), B(1-1) ¢ C(20) yhnbpny;

6) wyl whgGmut A(-15), B(- 2-2) ¢ C(55) Ywntpny:

1.3.10. Gwqut; w6 powlwqdéh hwjwuwpnuip, npG wlglnd E mpjuwo

Ytwuny § ynpwthnid £ npgwd mnhnGhpp’
1) 0(00) x+2y -9=0, 2x -y +2=0;

2) A(-15), 3x +4y-35=0, 4x+3y +14=0:
1.3.11. Guqut; w6 ppwlwqdoh hwyjwuwpnip, npp pnpwthmd £ wpgwo

tintip mnhnGtpp”
1) 4x-3y-10=0,3x-4y-5=0, 3x-4y -15=0;

2) 3x+4y -35=0,3x-4y-35=0,x-1=0:

1.3.12. {wpyt; mpdwo Yhunhg dhas§ mpywd ppowlughon tinud thnppuqgn)G
htnwynpnipjnilp’

1) A(6-8) x*+y?=9;
2) B(3:9), x? + y? — 26x + 30y + 313=0;
3) C(-7:2), x* +y? —10x — 14y — 151=0:
1.3.13. bGswhup® wwydwGh phypnd Ax+By+C=0 nmphnp  §
(x—a) +(y -b) = R* ;pgwwghop’

1) sniGhG pnhwlnip Yhnbpg 2) niGkG vty pnhwGnip Yhn;
3) mGLG tpynt pGnhwnip Yhw;
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1.3.14. SpJwo L a(3x + 4y - 10)+ ,B(3X -y- 5) =0 mnphnGtph thGoh hwuju-
uwpnudp: Gwnlh] wyn hlGoh wjl mnhnGtpp, npnlp 2npuhmd GG
x2 +y? + 2x — 4y = 0 rpowlwghon:

1.3.15. Qb A(4,'2) Ytwpg X2+ y2 =10 powGwqohG wmwpjwd pnyw-
thnnGtpny Juquijwo whlyymGp:

1.3.16. C(6,‘—8)11hulhg nwnpjwd bl pnpwthnnltp X2+ y2 =25 )powlu-
qohG: QwmGh; C-Co6 dhGs§ pnpwihdwl Yhwmtpny wlglng nihnp
tinwo htinwynpnip niln:

1.3.17. Guqity hwppnipjuG  wjlG Yhwbph  GpypuwswhwluwG  wnbnh
hwjwuwnpnidp, npnlGg  htnwynpmpynilGiph  hwpwpbpnipyniGp
npjwo Yhnhg § mpjwo ninnhg hwjwuwp t ¢ pyhG

1) A(60) x =15£=2; 2) A3,0), x = g, £=15;3) A(2:0) x = 45, = g

4) A(30) x=12,6=055 A25) y=1 =1, 6) A3 -4 y=2¢=1:

1.3.18. Spywo Eihwyuh hwdwp quGt] Yhuwwnwlgplhph GpywpnipyniGGtp,

Epugtiimphuhwmtinp, dnyniultiph ynnpnhGuwnGtpnp §
nhptyunphuwltnh hwjwuwpndGhpp®
2 2 2 2

X X
1) ?+#:1,a>b>0;2) ¥+%=1, b>a>0;3) 9x?+25y2 = 225;

4) 4x’+y? =1; 5) 16x2+y? =16 ; 6) 25x%+9y2=1:
1.3.19. Spqwo t 8x%+5y? =77 hhwup: Mupghy, ph A,(-23) A(2-2)
A (2-4) A, (-13), A(- 4-3), A/(3=1) A,(3-2), A,(27), A(0:15)  §
A,O(O,‘—16) Ytwmtphg npn°Gp GG qubGymd tihyuph Jpw, npn®Gp
Eihwuhg nnipu, npn®Gp Ejhwup Gepuncd:
1.3.20. Guqut] tjhyup yuGnGulwl hwjwuwpnodp, bpt
1) Gpw Yhuwwnwlglptpp hwuwuwp b6 7-C¢ 3-C;
2) dhobnyniuwyhl htnwynpmpjmibp 10 £, huy EpugbGuphuhntup’ 0.5;
3) YhvwwnwlgGpGtph gqmiwpp 9 b, huy vhopnynuwjihG htnwynpni-
pmiln” 6:
4) YhuwwnwGgGpGhiph hwpwpbpmpiGp 0.8 £, huy dhodnyniuwhb
htinwynpnipyniGn’ 12:

5) wyl wlglGmd k M[é £j ¢ N[ \/EJ Ytwbpny:

6) wjyl wlglGmu E (0.6) ytwny, huy tpughGuphuhntnp hwjwuwn L
06-C:
7) U0 YhuwwnwGgpp hwjwuwp bt 6-C, huy nhptyumphuGbph
hwjwuwnpmuiGhpl G6° x =+12;
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8) dhonhptywmphuwyhG  htnwynpmpymGpn 12 t, huy hGy-np  Yhwnh
$nyniuwyhl QwowhnGpp hwjuwuwp G 6-C¢ 4-C:

9) thnpp Yhuwwnwlgpp 4 b, huy dhonhptywmphuwjhl htnwynpnipjniln
tintip wlqu dto £ dheodbnyniuwjhl htinwynpnipnilhg:

10) F,(— Zgj ¢ FZ(Z,'— g] Ytwnbpp Gpw pnynulhpt ta, huy Epugblwmphup-
V2

wntinp hwjwuwn & 72 -C

11) F(2,'1) Ytup Gpw $nynwl E, EpugtiGnphuhntinp hwjwuwnp é—@,

huy x — 5 =0 ninphnp Gpw nhptyunphuG t:
1.3.21. Quit) mpJwo ninnh § mpdwo Ejhyuh hwndw Yanbpp

2 2
1) x+2y—7=0,x*+4y? =25:2) 3x—4y—40=0,';(—6+y?=1:

2 2
Xy
1.3.22. —+I5=1
a’ b?
tihwup:
1.3.23. Qpty wpywo  Yhtwnhg  EhwyuhG  wwpwo  pnpwihnnGhph
hwjwuwpmuiGtpp

10 .5\ x> y? x2 y?
A—,‘—,— _:1; . A Y _q.
1) (3 3] TR A(10; - 8), ITART 1,

2 2
3) A(-169), XT +y? = 1:

1.3.24. Spywo hhwbppnih hwdwp quGhp YhuwwnwGgplGhpp, EpughGun-
phuhwtnp,  pnynultph  YynnpphGwnGpp,  nhptyjnphuGph - §
wuhiyunnunitiph hwjwuwpnuiGhpp:

2 2 2 2 2 2
R . I AN P ) QA A
a“ b a“ b 16 9
4) x*-y?=1;, 5) x*-16y*=16; 6) 4x° -9y®=25:

1.3.25. Spywd . 100x* — 36y =1 hhwtippnip: Muwpgly, ph A{%;-%};

Ao(t1) As(17), A{——;;O] ytwntphg npn°Gp GG pGywo hhujkppngh
Ypw, npnGp hhwybtppnih §ymintiphg dtyh Ghipumd § npnGp &ynintph
uho§:

1.3.26. Guquty hhybtppnih JuGnGuliwl hwjwuwpmdp, tpb’

1) ququpGtph htnwynpnipjniln 10 t, huy dhodnyniuwjhG htnw-
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Unpnipjnilp’ 12;
2)  hpuywl wowgpp hwjwuwp & 71— ¢, § wlglnud k (1,'3) ytwny;

3) x=% \/g nihnGtpp nhptyuphuwGbpt 66 § wiglmd (— 9,‘4) Ytwny;

%) 4tino Yhuwnwlgpp hwjwuwnp t 0.5 — ¢, huy ququpp ShodnyniuwjhG
htinwynpnipnilGp pwdwlmd t 4:1 hwpwpbipnipjudip;
Epugtnphuhmbinp hwjwuwn 1.4, hull ququph htnwynpnipjmGp

5) .
dnnwlw nymuhg 2 t;

(7;—2\/5 Ytinp wuwunuwlnwd £ hhwytippnihG, hul Gpw hinwynpnipyniln

6)
dwlu pnyniupg hwjwuwp b 4/7 - C;

7) (— 1;3) Ytunp wuwunwGnd £ hhwybppnihG, huy y = +2x mnhnGtpp Gpu
wuhdyunnunbbpl ta;

9 F,(3,0) § F,(-30) ytntpp $nyniuGhint b6, huly x = 2 ninhnp’
nhptynphulbphg dhp;

9 F(13) Ywnp pnyniutitinhg vhyG t, A(-43) Ytanp' quiquipp, huy

tpugtGuphuhnbtunp hwjwuwp t 15 -C;
10) Gpw $nyniubbpp hwepGyGnu GG 9x2 + 25y2 = 225 Lhwyuh
$nynwulliph htin, huy tpugbGuphupwmtinp hwjuwuwp t 2- C:
1.3.27. 8nijg wwy, np mpywo hwjwuwpmdGbpp npnpmd GG hhwbppng, quGbg

(GpwGg ququpltpp, Yhuwwnwlgpltpp, Epugtlumphuhumting,
wuhdwwumnwGtph § nhptyumphubGtnh hwwuwpnidGhpp’

1) 16x% — 9y? — 64x — 54y —161=0; 2) 9x* —16y° + 90x + 32y — 367 = 0;
3) 16x° —9y® — 64x — 18y + 199 = 0:

1.3.28. Qb mpJwo minnh § mpywo hhwybtppnih hwndw Yhnbpp'
1) 2x—y—10=0, x* —4y? = 20;2) 4x -3y —16 =0, 16x* — 25y” = 400:

2 2

1.3.29. h°Gs wuwydwlh nhiypmd y = kx +m ninphnp 2npuihmd k X—2—% =1
a
hhwtippnp:
1.3.30. Gwqity A(-7-7) Uuwnhg x?—y?=16 hhwbppnhG wwpwo
onpwthnnGtiph hwjwuwpnuiGhipp:
1.3.31. Qulh; wpjwd wwpwpnh $nynup § Juqdtp phpblunphuwjh

hwjwuwpnidp’
) y?=2px;  2) y?=-px(p>0); 3) y’=6x;
4 y?=-3x; 5) y=x% 6) y=—v3x*:

1.3.32. Guqut] ywpwpnih hwjwuwnpnidp, tpk’
1) wyG upitnppy & Ox wnwlgph Guwmdwidp, ququpn O(O,'O) YtwnG t § wyG
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wlgGmud (3;—7) Ytwnny;
w6 uhstnphy £ Oy wnwlgph Glundwdp, ququpp O(0;0) YhwnG &, huy
$nlyniup qunGynud L (0,‘7) Yhunud;
Gpw $nyniup (6,0) YtnG b, nhptwphuw Oy wnwlgpG t § uhstwnphy k
Ox wnw(gph GYuwniwdp;
Gpw $nyniup (0:8) YtunG b, nhptwphuw Ox wnwlgp t § uhttwnppy k
4) Oy wnw(gph Guwmiwip;
5) Gpw $nynmup F(- 7,0) ytanG k, huy nhptynphuwG x — 7 = 0 ninhnG E;
(pw ququwpn (oiB) Yt £, ywpwdtnpp hwjwuwp t p - C, huly wnwlgpp
qniquhtin £ Ox wnwGgphG;
(pw ququpn (a,' B ) YtwnG b, uwpwitnpp hwjuwuwp & p -G, huy
7 wnwlgpp gniquhtin & Oy wnwGgphG;
8) Gpw pnynup F(2—7)ytwnG b, huy nhpkyuphuwi x -y —7=0 mnhnG t;
) Gpw ququpn A(— 2- 1) Yt t, huy nhptyuphuwG x + 2y — 7= 0 ninhnG
1.3t.33. Qult] mpJwo ywpwpnh ququpnp, yupwibtnpp § nhptuphuwgh

hwyjwuwnpnudp’
Vyroax—g; 2 yroq-6x; 3 x?=6y+2; 4 x'=2-y;
) ) ) )

5 y=025x2+x+26 y=4x>-8x+77 x=2y*-12y+14 8 x=—y?42y-1
) ) ) ).
1.3.34. Muwpghy pti h°G6s qobtp GG Wwwnybpmd htn§jw) hwjuwuwpmdGhpp.
1) y=3-4J/x-1; 2) y=-5+4-3x-21;
3) x=-4+3\/y+5; 4) x=2-,6-2y:
1.3.35. b°Gs wwjdwGh nwypmd y = kx+b npnp pnpuhmd b y? = 2px
ujupwpnip:
1.3.36. K- h"Gs wpdtipGtph nbiypmy y = kx + 2 ninpnp’
1) hwnmit y? =4x wwpwpnp; 2)  2npwhmd k GpuG;
3) sh hwunmd GpwG:
1.3.37. Qpty y? =2px wuwpwpnhG Gpu MO(XO,'yO) Jtnmd  nwpjuo
npwthnnh hwjwuwpnidp:
1.3.38. Guqut] y?=8x wwpwpnih wjl npwihnnp hwywuwpnudp, npp
gniquhtin £ 2x + 2y — 3= 0 mnnh(G:
1.3.39. Guqut; x? =76y wwpwpnh wjl npwithnnh hwywuwpnudp, np
ninnuhwjwg t 2x + 4y + 7 = 0 ninnhG:
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1.3.40.

1.3.41.

1.3.42.

1.3.43.

1.3.44.

1.3.45.

1.3.46.

1.3.47.

D
2)
3)
4)
5)
6)
7)
8)
9)
10)

20

GQuquty A(2,'9) ytwnny y? = 36x wuwpwpnihG nwpjud ynpwihng-
Gtph hwjwuwnpmdGhpp:

P(— 3,72) Ynny wwpgwd b6 pnpuhnnGtp y? = 10x  wupupnihG:
Qunlt; P Ytwh hbonwynpmpynbp 2npuhdwl Ytumbpp dhwgling
Lwphg:

Qunll; 9x° +4y® =900 tihwuh § y? =24x wwpwpnh hwndwa

Ytwntipp:

QuniGl; x%—4y?=-20 hhytppnh § y? = 3x wwpwpnh hwndwd
Ytinbipn:

Qb y = x* - 2x+1¢ x = y° — 6y + 7 wwpwpniikph hwndwG Y-
wbipn:

Munpgb], pt h°Gs Yynptph hwjwuwpnudGip 66 wpdwd p§tnwjhG
ynnpphGuwwmGtpny’

10
fr=———— ) r=——; r=———:
b 1-0.5cos¢p ) 1-cosgp 3 1-1.5cos¢p
oro_ 12 g, 5 o 1
) 2-cosp’ ) 3—-4cosp’ ) 3-3cosg

Uuquitip htn§ju; Ynptph hwyjwuwpniGbpp  p§tnwyhlG  Ynnpnh-
GuwGtpny, tpt p§tnwjhG wnwlgph nnnnipniGp hwipGylimd & Ox
wnwgph nnujul mynmpjwl htin, huly p§tnp O(O;O) ytwnG t°

X2 2 X2 2

e ) ?—§:1; 3) y?=2px:
Mupgby, pb h°G; Ynpbp 66 yuwnytipnd htn§jup hwjuwuwpmdGepp §
w6 ptipt) yulnGuywb mbupp’

4x? +9y?-40x + 36y +100=0;

9x? —16y? —54x — 64y —127 = 0;

9x? +4y* +18x -8y +49=0;

4x° -y +8x-2y +3=0;

2x° +3y* +8x -6y +11=0;

32x? +52xy - 7y* +180=0;

5x% —6xy +5y?-32=0;

17x* —12xy + 8y* =0;
3x2+10xy + 3y —2x — 14y —-13=0;

25x% —14xy + 25y? + 64x — 64y —224=0;



11) 9x? —24xy + 16y° — 20x + 110y — 50 = 0;
12) 9x%+ 24xy +16y? —18x + 226y + 209 = 0:

QLOMu II
ULULhShy 60UUQUONRMe3NRLA
SULUBNRME3UL UGR
«l. dEmnpuluG hwGmuhupijh vmuppbpn

=(3-14) ytyunph uyqpGuytnp hwipyGmd t M(£2-3) Ytwp
htin: GGty Gpw owjpwltinh YnnpnhGwwnGhpn:

5=(2-3-7) ytyunph owjpwltnp hwdpyGns & N(£=72) Ytanp
htin: Gt Gpuw uygqpGuybtnp YnnpghGuwnGtpn:

Lwjwmbh t, np 8 Yyuhwmnpp Ox, Oy ¢ Oz wnwlgpltph htim Juqdnud k
hwiwywnmwuuwlwpuwp o =45° f=60° ¢ y =120° whlynGhtn §
| =2: Qulty & ytywnph wpnjkyghwbtpp Ox, Oy ¢ Oz wnwlgp-

Gtph Yypw:
Qn(ly a = (x;y;z) ytywnph nignnpn YnuhGniuGhpp, bph®

- ~ 3 4 12
1) a=(12-15-16) 2) a= (Tsﬁﬁj
Qupn™ t wpynp Jtywnpp YnnpphGuwmuwghlG wowGgpGhinph htn
Juquti htn§ju walynGGtpp
Da=45,=60°¢ y=120°;2)a =45°,=135°¢ y = 60°;
3)a=90°3=150°¢ y=60°4)a=30°¢ [ =45°;
5) f=60°¢ y=60°; 6)a =150°¢ y =30°:
a yuyunpp Ox ¢ Oy wnwlgpGtiph htn Juqimd b o =60° §
£ =120° wlyynmGGtp § |5| =2: Qultk a ytywunph YynnpphGun-
Gtpp:
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217, <wpwtht, np (&= 13, [B|=19, |6+ B = 24 Quntity a—b|- V-
2.1.8. <wjywGhEt, np |5| =11 ‘5‘ =23, ‘5 - 5‘ =30 : Qunlh g+ l_)) -Y:
219. a¢ b JtymnpGhpp yuquinmd GG ¢ whlynG: Gunlbg gi l—; ~Y, bpt’
1) 0=90°[a=5b| =125 2) ¢=60° |- 5[] - 8;
3) ¢=120°[d/=3|p|=5:
2.1.10. b°Gs wwydwGh GG pujupupmd a ¢ b JtywnnGtpp, tpk’
D [a+b|=[a-b; 2 [a+p>[a-b; 3 [a+5<a-85];

4 3+ b yuhwnpp Yhumd £ & ¢ b YklwnpGhph Yuquwd wilmGp:

2.1.11.

2.1.12.

2.1.13.

2.1.14.

2.1.15.

2.1.16.

22

Spwo &G Pp=(2-3)¢ g=(12) ytywnpGtpp: QG & = (9:4)
Ytlwnph YyippmompyniGp pun p ¢ g YtlumnpGhph:

Spjwé GG a=(3;-2) b=(-2/1) ¢ ¢ =(7; - 4) YuyunpGbpp: Uwnni-
qt], np Gpwlghg gwijugwo tpynmup qonptl wilwhu GG § qunlbg
GpwGghg jmpwpwlyniph Ybpmonpynip  pun Wnw Gphym
ytyumnpGbph:

Spwo w6 a=(210), b=(5-12), ¢=(22-1) § d=(37,-7)
JtywmnpGpp: Uwnmqby, np GpwlGghg gwGywgwo tptpp qonptl
wlfwfu GG § qunlhy Gpwlghg jnipuwpwlsniph YytpnionipjniGp puwn
Ujniu tiptip yayunpGtiph:

bGswhup® @-C ¢ B-C  hwiwp a=-2/ +3j+pk §
b=-a - 6]’ + 2k JtywmnpGipp hwiwqho ta:

Spjwo b6 a=(2-36)¢ b=(-12-2) yulunpGtpp: QG ¢

ytyunnph YynnpphGunGlipp, tpt wjlG monyuo & a ¢ b ytyunnnpGtph

Juquwo wiljwb Yhunpnny § |5| =3J42:

Spywd GG & b ¢ Ctptp ny hwdwhwpp YuynnpGipp: Uwnnighy,



é=¢m=a-b-Cri=d-b+¢:

2.1.17. Qupyh) a ¢ b JtywmnpGpp uupwp wpmwnpyup, tpk
1) |a= 3,‘5‘ =1 9=45; 2) |d= 6,‘5‘ ~7 9p=120°;
3) [al=4[6| =2 0 =90° 4) [d-4p|=3 ¢ =60

2.1.18. Jwyty |5|2 - x/§(5,5)+ 5‘5 ? wpunwhwjnnipjuG wpdtpp, tpt’

1) fd=2[p[=1 p=30°; 2) g=3[p|-=2 ¢=150":

2.1.19. Qun(by a ¢ b JtyunpGph ujugyup wpnunpyup, bpt’

1) a=(4-10b=(-17); 20 a=(27b=(1-3);

3) a=(12)b=(-42); 4 a=(32-5)b=(1012);

5) a=(103)b=(-4151); 6) a=(215)b=(7-9-1):
2.1.20. Qmﬁh[ ag¢ b JtwmnpGlinh juquiwo whlyyniGp, tpt’

1) a=(12) b=(24); 2) a=(t2) b=(42);

3) a=(1-1) b=(-42); 4) a=(1-11) b=(511);

5) :(1,—1,1) b=(-22-2); 6) a=(1—=11) b=(31-2):

2.1.21. Spqwo t6 a=(-72), b=(51)¢ ¢ =(4;-2) yulnnpGhpp: Qwpyty
htin §jw wpnwhwyjmmpmGGatph wpdtipGhpp’

1 bG6)-cab): 2 |4 -(6:3); 3 [p +(6.a+36):

2.1.22. Spqwo b6 a=(1-11), b= (511) ¢ ¢ =(0:3-2) YtlwnpGlpp: wpyty
htin§ju wpnwhwynmpyniGltph wpdtpltipp’

1) bEE)-¢@b): 2 [d° +|d -6Ebf6c):3 GeNab)-[a(5.c):
2.1.23. Spjwd b6 a=(3-17) ¢ b=(-177) yuhwnpltpp: GGl wylwhup X

ytywnnp, npp pwwpwph (7(,5) =13 (7(, 5)= -3  hwjwuwpnuiGhph
hwiwlwnghG:

2.1.24. Splwo b a=(415)¢ b=(052) § ¢ = (- 6:23) Ytyunplbpp: Gty

wjluhuh X yblwnp, npp puwjupuph ()?,é): 18, ()?,5): 1, ()?,5): 1
hwjwuwpnuiGtph hwiwyupghG:
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2.1.25.

2.1.26.

2.1.27.

2.1.28.

2.1.29.

2.1.30.

2.1.31.

2.1.32.

2.1.33.

2.1.34.

2.1.35.

2.1.36.

2.1.37.

24

Spywd GG &,b ¢ ¢ Shwynp uywnpGpp, pln npmd a@+b+¢=0:
Qwpyty @b + bE +¢a qnudwpp:

a,b ¢ ¢ ytlwmnpGhpp qnyg wn qnygq dhijwlg htwn Juqin GG 60°
wlyymtn  § |a)=4 ‘5‘ =2¢[¢]=6: 2wty p=a+b+c
Jtywmnnph dnnnin: ) )

a —C hGsujhup® wpdtph nhuypmy a+ab ¢ a—ab  Ytpyunpltpp
thnfuninnuhwjug GG, Lpt |5| =3¢ ‘B‘ =5:

PGswhuh® wwjtiwGh gtwpmd a+b § d—b yulwnpGtpp Yhka
thnfuninnuhwjwug:

ag b JtyunpGipp  Juqimd 66 @ =30° wlymb: <wyty
p=a+b¢ G=a-b (uynnpGiph Yuqiwd wllymbp, bph
&)= V3 ¢ ‘5‘:1:

bhGsyhuh® a—-C nhuwpmd G=ai —-3j+2k § b=i+2j-ak
JtyunpGtpp YhGeG hnfuninnuhwjwg:

X Jhymnpp hwiwgho b a =(6-8-7,5) yiyunphG § Oz wnwGgph
htn Juqumd L ump wlyymb: Gwnlh Gpw YynnpnphGwwnbhpp, Gph
X =50:

Q) X ytywnpp, tpt wyl hwdwghd b & = (27-1) ytunphG §
(x,a)=3:

X yblpunpp mnquhwywg t =3/ +2j + 2k § b=18 —22j — 5k
ytyunpGtpphG § Oy wnwlgph htin Jugqdmd L pnip wllyyniG: Qwmbky
X Jtyunpp, tph |7(| =14:

Qupyly a= (5,'2,'5) Juyumnph  wpnjklghw b= (2,'—1,'2) Jtlumnph
wnwgph Ypw:

Splwd GG a=31—6j—k, b=i+4j-5k § C=3—-4j+12k
YtywnpGtpp: <wpyby & ; (5+ 5)— Y:

Spywd GG a=(#-34), b=(3-42) § ¢=(-114) JuywnpGtpp:
Qupyty & 5 a- Y:

c

Splwo 6 a=-2/+j+k, b=i+5 § C=4i+4j-2k
YtyunpGhipn: wyyty an 5(35 - 25)— Y:



2.1.38.

2.1.39.

2.1.40.

2.141.

2.1.42.
2.1.43.

2.1.44.

2.1.45.

2.1.46.

2.147.

2.1.48.

2.1.49.

a ¢ b JuynnpGhpp Yuqind 66 @ =30° walmG: dwyyty |[@xb

tipts [4] = 6, ‘5‘ =5:

a ¢ b ytyunpltpp Juqin 66 @ =120° walmG § |5| =1 ‘5‘ =2:
{wpyty

1) (§XB)2; 2) [(25+5)x (5+25)]2; 3) ‘(§+B)x (5—5)‘
a ¢ b ytyunplbpp thnfunipquhwjwg GG § |§| =3 ‘5‘ =4 Qwyty’

D [@+b)G-56]: 2 [sa-b)la-2]:
h°Gs wwjdwGh whtwnp b pujupupkt § a ¢ b JtywmnpGhnp, npybugh
a+b § a- b ytywnpltpp (hGEG hwiwgho:
Uujugmgty, np (éx 5)2 + (é, 5)2 = a°h?:

2

Uwwgnighy, np (§><5)2 <a’b?: h°Gs yuwydwlh nhypmd wtnh niGh
hwyjwuwpnipynGp:
Spywd b6 a=(3-1-2) § b=(12-1) yYtyunpGtpp: GGl htn§jug
JtyunpGhph YnnpghGuwwnmbbpp'
1) axb 2) (25—5§Ix(25+5); 3) (08 +b)xb:

Spjwo GG ABC  tnwlljuwG ququplbpp' A(1,‘2,‘0), B(3,'0,'—3)
§C(5:2:6): Qi ABC tinwliljwé Gwhbptup:
Qi ity 5,5 ¢ ¢ ytywnplliph fuwnp wpnwnpyup, bpk’

a=(1-11) b=(73-5) ¢ =(-22-2);

2)a=(351) b=(40-1) ¢=(211);

3)a=(210) b=(5-21) ¢ =(-1-37):
Uwmniqhi] htn§ju yayumnplGeph hwdwhwppnipjniGp’

1) a=(235) b=(71-1) ¢ =(3-5-11) ;

2) a=(201) b=(53-3) ¢=(33710):
ab ¢ ¢ yuywnpGhpp hwdwhwpp s66: bGswhup® A—-C nhwpnid
4+2b+AC, 4a+5b+6C ¢ 7a+8b+ 4%  (ulwnpGipp  YhGLG
hwiwhwpp:
Uwwgmgty, np  A(12-1), B(0:15), C(- 121) ¢ D(213)  Ytnbipp
qulymu Gl dh hwppnipjwl Yypuw:
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2.1.50. Spywo GG pnipgh ququplbpp’ A(2;1,'-1), B(3,'0,'2), C(5,‘1,‘1) § D(O,‘-'I,‘3):
Qb
1) pnipgh dwuyp;
2) C ququphg nwpjwd pwpdpnipjul tpupnipymln:

2.1.51. Uwuwgnigky, np ‘555‘ < |§”5“5| : N°p  phwypmud  wtnh  mGh
hwjwuwnpmpniG:
2.1.52. Uwuwgnighy, np \@+ BXB + 5X§ + 5): 2abc:
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2.2.1.

2.2.2.

2.2.3.

2.24.

2.25.

2.2.6.

«2. Swppmpymilin § nighny ghop mwmuompul dko
Ququty wyl hwppmpjul hwjwuwnpnudp, nplG wlglnd L wmpduo
Ytwnny § mnnuhwjwg & mpduwdo Ytjumnnphl
1) M21-1)n=(1-23); 2) 0(000) n=(50-3);
3) M(-123)n=(1-23); 4) M(012) n=(-130):
Spqwe 66 M, ¢ M, Utwbpp: Guwqitp wyG  hwppnipjuG

_—

hwywuwpnuip, npG wlglmy £t M, Ytwnnd § mpnwhwjwg MM,

Julwumnphd.
n M 1(3;_ 7;2)1 M, (4;_2;_ 7); 2) M 1(0"2"7) Mz(_ 1"_3"1);

3) M,(2-1-1) M,(0:00); 4) M,000) M,(-12-3):
GQuqut] w6 hwppnpjuwl hwjwuwpnudp, npG wlglnmd L wnpjuwo
Jtunny § gniquhtin £ npdwd YytyunpGbphG’
1) My(3:4-5) & =(31-1) &, = (1-21);
2) M,(-123) & =(4-23) a,=(312):
3) M,(0:11) a,=(202) a, =(-22-1);
4) M,(1-21) a,=(-121) a,=(0:3-2):
Guqit] wyl hwppmpjul hwjwuwpnuip, np wiglnd L wpjwo
ytwnny § gniquhtin £ mpywo yyumnphG
1) M,(2-13) M,(312) a =(3-14);
2) M,(-10;2) M,(0:23) a=(1-2:3);
3) M{(01-2) M,(412) & =(315);
4) M,(1-12) M,(20-1) a=(0~12):
Ququb] mpJwd tptip Yantpnyg wlglnn hwppnipjul hwjwuwpnudp’
1) M,(3-12) M,(4-1-2) M,(202);
2) M- 120) M(13-1) My(0-13);
3) M,(2:11) M,(3:20) M,(4-12);
4) M,(-210) M,(0-23) M,(-122):
Spywo hwppmpymGGtph qniygphg npn®°Gp GG qmquhtn § npn®Gp LG
ninnuwhwjug’
1) 2x-3y+5z-7=0,2x-3y+5z+8=0;
2) 4x+2y-4z+5=0, 2x+y-2z+1=0;
3) x-3z+2=0, 2x-6z-3=0;
4) 3x-y-2z=0, x+9y-3z+4=0;
5) 2x+3y-z-3=0, x-y-z+4=0;
6) x-2y+4=0, z+4=0:
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2.2.7.  9pbp wyG hwppmpjwl hwjwuwpnuip, npG wlglnud £ npjuwd Yhnny
§ qniquhtin £ mipywo hwppnipjulp’
1)M(0,0,0), 5x —3y +2z-3=0;2)M(3; -2, -7), 2x-3z+5=0;
)M(1; - 1:2), 3x—y + 2z +1=0;4)M(2,0;1), 3y -z=0:
2.2.8. G9pb] w6 hwuppnpjul hwywuwnpniip, npG wiglnd £ mpjwo Yhnmny
§ mnnuhwjwg L mpywo hwppnipynm GGG’
1)M(0;0,0), 2x -y +3z-1=0, x+2y +z=0;
DM(2;~11), 2x -z +1=0, y = 0;
HYM(12,-1), x-y+2=0,y+z-1=0;
HM(;;-2:3), x+y-z-1=0, 2x+y-z-3=0:
2.2.9. 9pbp w6 hwppnipjul hwjwuwpndp, np6 wlGglmd £ wnpgwo
twmbpny § mnnuhwjwg £ mpjwo hwppnipjwln’
1) M(1—1-2), M,(3:%1), x-2y +3z2-5=0;
2) M(0;1:2) M,(1,-3;2) 2x +y -z +1=0;
3) M,(~12,0), M,(-2;%1), x+y +2z-3=0;
4) M,(0;0;0), M,(1:~1:0), x—y —z+2=0:
22.10. a-C¢ b—C n°Gy wpdtpGiph nhypmd  2x-y+3z-1=0,
X-2y-z+b=0 § x+ay-6z+10=0 huppmpmGGtpp’
1) GG dbY pnhwlng Y,
2) wlglnd k6 by mnnny;
3) hwwymd G tptp qniquhtin ninhnGhpny:
2.2.11. Guqub] w6 hwppmpjwl hwjwuwnpnudp, npp’
1) wlglmuk M(4,'— 1,'2) Ytwny § Ox wnwlgpny;
2) wlglnuik M(1,'4,'—3) ytwny § Oy wnwlgpny;
3) wlglnuit M(3,'—4,'7) Ytwny § Oz wnwlgpny:
2.2.12. Ywquit] wjl hwppnipjuwl hwjwuwpnuip, npp’
1) wlglmut M(2;—3;3) ytwmny §qmquhtin & xOy hwppmpjulp;
2) wlglmuik M(‘I,‘—Z,‘4) Ytwny §qniquhtin & xOz hwppnipjwGp;
3) wlgGmat M(-52-1) yhwnny §gmquhtn t yOz hwppnipjwtn:
2.2.13. Guqubj w6 hwppmpjwl hwjwuwpnuip, npp’
1 wlglni t, M1(7,‘2,‘—3) § M, (5,'6;—4) Ytwbtpny §qmquihtin & Ox
wnwlgphG;
2)wliglmu k M1(2;— 1,'1) § M, (3,'1;2) Ytwmtipny §gmiquhtin & Oy wnwGgphG;
3)wlglnud k M1(3,‘—2,‘5) § M2(2,'3,'7)11h1nhpnq §qniquhtn t Oz wnwgphd;
2.2.14. Spywd hwppnipjnGGtph hwjwuwpnuiGhpp gty <hwnyyuwoGtpny»’
1) x+2y-3z2-6=0; 2) 3x-4y+24z+12=0;
3) 3x-4y+z-1=0; 4) b5x-6y+3z+120=0:
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2.2.15. Qb htn§jwy hwppnpjniGGtnny Juqigwo whljnilp’
DXx-y+2z-1=0,2x+y-z+3=0;2)3x-y+5=0,4y-2z2+7=0;
3)3x—-y—-4z+1=0, 2x+3y -5z=0:4)4x-z=0, 3y +z=0:

2.2.16. <wpyt mpJwo Yhnmh htinwdnpnipyniin mpdwo hwppnipjnilhg’
DHM(12-1) 2x—y — 2z +4=0;2)M(0;%;3), x -3y + 2z~ 1=0;
3)M(1,0;2), 4x-3z+2=0; 4)M(-121), 5y -12z+1=0:

2.2.17. <wpyty mpywo gniquhtn hwppnipjniGGiph htnwynpnipjnilp’

1) x-2y-2z-12=0,x-2y—-2z-6=0;

2) 2x-3y+6z-145=0, 4x-6y +12z+21=0;
3) 2x-y+2z+9=0,4x+2y+4z-2=0;

4) 3x-4y-5J3z+2=0, 6x-8y-10J/3z-3=0:

2.2.18. Ywqdity wpjwo hwppmpmGitnphg  hwjwuwpwhtn ytwmbph

tnypuwsuthwlwl mbnh hwjwuwpnudp’
1) 4x-y—-2z2-3=0,4x-y-2z-5=0;
2) 3x+2y-z+3=0,3x+2y-z-1=0;
3) x-3y+2z-5=0,3x-2y-z+3=0;
4) 5x -5y -2z2-3=0,x+7y-2z+1=0:

2.2.19. A9nbp wyl mnnh ulnGuwlwl hwjwuwpmip, npG wlglnmd £ wmpjwo

ytwnny § gqniquhtin & mpgwo YyayumnphG®

1) M(20-3) S=(2-35); 2) M(12-1) S=(2-35);
3) M(0:00) S=(2-43); 4 M(023) S=(-32-4):
2.220. 9ptp wpywo  tpym  Yhnbpnd  wlglnn  mnnh julnGuywG
hwjwuwnpnuip’
1) M,(1-21) My(21-1);  2) M,(3~10) M,(10-3);
3) M,(0-23) M,(3-21); 4) M,(12:4) M,(-12-4):
2.2.21. <tn§jw) ninhnGtph hwjwuwpmdGtpp ptiptp yunGulwl nbuph’

X-2y+3z-4=0 S5x+y+z=0 .
) {3x+2y—52—4:0’ 2 2x+3y-2z+5=0"

X=2y+3z+1=0 X+2y-z-6=0
) {2x+y—4z—8:0’ {2X—y+z+1:0'

2.222.  -h hGsuhuh® wpdtpGtph nhypmy’
S5x+y—-z+1=0

D {x—3y+7z+m=0

7’X+my—-z-15=0
{x—y+3z+5=0

ninpnp yhwwnh Oz wnwlgpn;

nminhnp jhwnh Oy wnwGgpp;
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mx+y-13=0 i Ghunh Ox i
nu wum wnw .
2x—y+4z-26=0 T et

2.2.23. bGywyhup® m-C  phypmd x+2_y _z-1

X=3 _y=1_Z-7 | hnGbpp Yhungtc:
m 4 2
2.2.24. <w)yt httm§yjuy mnhnGtpny Juqigwo whlyymbn’
1x 1 y+2 _£_§ Xx+2 y-3 z+5
) Tz T 1 2
2) x+1 y+3 z-1 s x-2 y+1 z-1
3 -2 -1 2 3 -5’
x y+1 z-1 x-1 'y z
3)—="=—— ===—
) -2 1 3 d 3 17 -1
2.2.25. Qwytp wpqwo nmnnp § wpJwd hwppnipjwl juqiwd wGymbp §
qult] Gpwlg hwndiwG Yhwnp'
1 x-1 y+1 z

§ 2x+3y+z-1=0;

17 -2 6
X+3 _y- 1 z+1
2 xX-2y+z-15=0;
) 3 "5 § y

x+2 y-1 z-3
3 = = X+2y—-22+6=0;
) —5 "3 5 y

x+1 Y- 2 z—1
4 2x-3y+6z+6=0:
) — > p § y

2.2.26. Gwqditp wpjwo Yhwmbpny wlglnn § wpjwo  hwppnipjwGG
ninnuwhwjwg mnnh hwjwuwpnuip®
HM(2;-3;-5), 6x -3y —5z+2=0;2)M(%;

1,-3;2), 3x+y-z+1=0;
3)M(0;1:2), 4x —y +3z-1=0; HM(-12;3), x+y-z+2=0:

2.2.27. Guqditp wpjwo Ytwnny wlGglnn § wpjwo mnnhG nmnuhwjwg
hwppnipjul hwjwuwnpmup.

DMt~ 1~ 1) X+3_y-1_2z+2

_2r2 m(zr0) Xy Tz,
-3 4 1 2 3
x y-2 z+1 x+1 y z-1
M(-12;1), —= = ; M\0;0;0 = =—:
IM-121), =T E=Tm 9M(0:0,0) = L= T
o x-3 y-1 z+3
2.2.28. bhGswhuh® A-C¢ D-C ntwypmud y = y = ; ninhnp

YouGyh Ax+2y —4z+D =0 hwppnipjul Jpw:
2.2.29. GGt mpywo Yanh wypnjthghwl mpgwo ninnh Yypu.
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X y+7 z-2 x-1 y z+1

P21_173’_: = 5 ;95 1), == 5

1)P( )3 - 5 DP9 =T,
3y%435)X+1:Z:lzji-4ﬂ%T_T@ x+2_y _z-1
3 2 -1 R | -2 3

2.2.30. GGt mpywo Yinh wypnjtiyghwG mpjwd hwppnipjul Yypw.
P52 -1), 2x—y +32+23=02)P(1: - 1,2 x+y-z+5=0;
3)P(0;2;3), x—2y-z+1=0;  4)P(-11-2) 2x+y-2z+6=0:

2.2.31. QuGh] wpqwo Ybtwp hwdwswih (updtwnphy) Yewnp npJud
hwppnipjul GHundwdp.

DP(1:3;-4), 3x+y-2z=0; 2)P(2:0;3) 2x -y +z—-1=0;
3)P(2;-4;2), x+2y-z+2=0;4)P(2;,-3;5), x-3y+4z-5=0:
2.2.32. Qulb wpJwo Yunp hwdwyuth (uhdtnphl) Yoop  wpdwo mnnh

(ywuniwdp.
xX+2 y+17 z+8 x-2 y-1 z
P(2;,-5;7), = = ;2)P(5;4,1), = —=—
P2 -57) 3~ DPEAN ==
B X _y_ z x+1 y+2 z-1
HP(-150) —====; 4)P(-2,3;,-2
)P )—2 3 2 )P(- ) -1 1 -2
2.2.33. jwyyy M (2,'3; 1) Ytup htinwynpmipjmGp htim§ju ninhnGtphg
1 x—5:£:z+25; 2) x—1:y—2:z—13;
3 2 -2 1 1 4
2x-2y+z+3=0 X-y+1=0
) 3x-2y+2z+17=0" ) y+z+1=0"

2.2.34. Guwquit] npywd Yhnny wlglnn § wpjuwd ninhnGhipphG gniquhtin
hwppnipjul hwjwuwnpnuip.

1)M(12 3)x 1 y+1 z—7,x+5_y—2_z+3;
-3 3 3 -2 -1
.4 y-1 z+1 x+1 y z-1
2) M(0; —-1;2 —: = , =L == "
) ( )' 1 2 3 -1 2
3y M(11:0) X7 “7 vy _z-1 x _y+1_2z
-2 2 - 2 3

1
y+3 z x-2 y z+1
4 M0,0,0 —_—= = ==
) ( ) -1 2 -3 2 4 1
2.235. Guqutp wpjwo Ytwng § wupwd nmnnny wlglnn hwppnipjul
hwjwuwnpnidp.

1)M(2 21)x 1 y_—32:z+3

x_y+1_z-1,

-1 2’

2)M(1; - 10} 5
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2.2.36.

2.2.37.

X + 1 _y_z+ 1 X y+2 z
M\0;2; -3 = M(0;0;0) —=7——=—:
HMO0:2-3) =5 =" YM(0,0,0) ===
x—1 y+2 z-5 xX-7 y-2 z-
Ququb = = = = (i1
wqity — 3 2 § 3 2 — ninhnGipmy
wliglnn hwppnipjwl hwjwuwpnuip:
Qb C(3;-4;-2) Utanh wpnhlghuwG 1_35 -7 6_z¢ 43 §

2.2.38.

2.2.39.

2.2.40.

2.241.
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x-2 y-3 z+3
13 1
Gntip mpywo mnphnGiphg wnwohlny wiglnn § tpypnpnhG gniquhtin
hwppnipjul hwjwuwnpnuip.
1)x_—‘l v z+1’x y+1=z—1.
2 -1 3 3 2 1’
X y- 1 z-1 x+1 z+2

y
2 - - 5 =—_= 5
)—2 3 2 1 2 4

3) x+1:y+2:£ x—2:y+5:z—4'
3 -2 1 -2 3 -3’
4) _y_z x+3=y—8=z+5'
3 4 -2 -2 2 3
{wpyt htin§juy mnhnGiph htpwyynpmpjmGp.
x+7 y+4 z+3 x-21 y+5 z-2

ninhnGtpny wglnn hwppnipjwG Yypw:

D T Ve T T
2) x+4:y—4:z+1 g x+5:y—5:z—5;
2 -1 -2 4 3 -5
3) x+5:y+5:z—1 § X_QZL:Z_Z:

3 2 -2 6 -2 -1

Ququti mpjwo ninhnGtiph pnhwlnp nipnuwhwjugh hwjwuwpnuip!
1) x+7:y—4:z—4 x—1:y+8:z+12_
3 -2 31 2 -1
x-6 y-1 z-10 x+4 y-3 z-4
1 2 -1’ -7 2 3
3) x—5:y—3:z—13 x—7:y—3:z—9.

1 -1 17 1 2 -1
Ququitp wmpjwo nmnp wpnjtyghwih  hwjwuwpnuin  wpjwo
hwppnipjul Yypuw.

x-10 y-6 z+4

1 = = , X+2y-3z-6=0;
) -7 -6 3 Y

b

2)




X y-4 z+5
2) —=——= ,2X—-y+3z+5=0;
) 3723 T 4 Y

x-4 y-3 z+1
3 = = , X+y+2z-3=0:
)3T T Y

«3. bphpnpy jwpgh dulbp$nyplihn

2.3.1. P°G; dwybtp§myp G npnymy htwm§juy hwjwuwpmiGhpp
Dx*=4y; 2)z=>5y%;
3)x?+22-3x=0; Hx*+y?-722-2y+2z=0;
5)x*+y? -7 -2x+2z+2=0; 6)x*+y?—6x+6y—-4z+18=0;
NA4x?+y? -2 —24x -4y + 27+ 35=0:8)2x% + 2> + 2x + z =0
2.3.2. Qb qlnnnpuh YhGupnGh YynnpnhGuwumGtpp § Qwnwyphnp’
1) xX*+y?+2°-4x—4y-4z=0;
2) 2X*+2y?+22°+4x-8y+12z+3=0:
2.3.3. Gt wyl quubwjhG dwytp§nyph hwjwuwpnip, nph mnnnpr qoh
2 2 .2
hwjuwuwpnuiG b {X +0y -a , huy oGhyGtpp gniquhtn &G
Z=
X =y =z mnnh:

2.3.4. Qb wjG YynGwywl dwybtp§niyph hwyjwuwnpnidp, nph ququpp
quiymyd (2,'—1 ;3) Ytwmnd, hul nnnnpn qO0h  hwjwuwpmdn
htwm§ju6 t’

x*+4y®+2z°-4x+8y-6z2-3=0
z=5 '
x+y-5=0

2.3.5. Gl nnpnp Ox  § Oy wnwlgpGhph pmpop
wununbnig wowowgwod dwytin§nyplitph hwywuwnnidGhpn:

2y +z=0
2.3.6. Gl 0 ninhnp Oz wnwlgph mpop  wwwnbinig
X =
wnwowgwd twibtp§niyph hwjwuwpnuin:

2.3.7. Qulh; tjhwunhnph hwjwuwpndp, Gpt vhdbnphwgh wowlgplhpp
ynnprhGunwlwl wnwlgplhpG b6 § wigtmd & A(2;0;0) B(0;3;0) §
C(O,’O;4) Ytwnbpny:

X2 y2
2.3.8. Uwqitp — + ra =1 z=0 tjhyup Ox wnwlgph pnipop wwmwmnidhg
a

wnwowgwd dwltp§nijph hwjwuwpnin:
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X2
239. Uwqity —

2
§:1, y=0 hhwbppnp Oz  wnwlgph nipop

wunwunniihg wewewguwd twtp§nyph hwjwuwpnidp:

2.3.10. b°Gy dwytp§nyp GG npnpmd wwppbp A-Giph hwdwp htn§jug
hwjwuwpnuiGtpp:

1) xX2+y?+22=2; 2) P+y?+z2=13) x?+y’+z22=1;
8 xPayi-zi=a; 5) x-yl-z=2:; O xt+aly?+2)=1;
7) X2+/1(y2+22)=/1;8) X+y?=iz; 9 ixP+yi=z;
10)1(x2+y2)=z; 1) x2+ay?=az; 12) x24ay?=2z+1;
13)x*+y*=2; 14) X2 - y? = 4:
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G LNrUII

40U3hL {ULLPULUCUY D SULLELL
«l NpnphsGbp: EnpongmpimGG6p SunnphglGbph hn

a+b

3) a-b

cosa
sina

3)

; 6)

T OO0 X 2N O

3.1.1.  Qwpyby htim§juy npnhyGhpp.
-2 -3 1 3.
b 4 3 2 2 6’
a -1 sina cosa
4 f \/5; ) sin 8 cosﬂ;
cosa -sinal. sina cos?al.
N sin B cosp| 8 sin? g cos? |
3.1.2.  <Qwpyty htw§ywy npnphsGhpp.
2 1 3 170 3
Dt -1 1; 2) 2 1 1;
17 2 2 0 4 1
3 -1 2 2 2 7
4|7 6 3; 5 -1 4 -5;
4 1 2 17 6 2
-1 5 0 17 b 1
N7 -2 3; 8) 0 b 0f;
4 1 1 b 0 -b
1+cosa 1-sina cos®a 1
9)|7+sina. 1+cosa 1;10) 1 coso
1 1 —sina 1
3.1.3.  Qwpyby htim§juy npnphyGhpp.
3 0 2 1 -1 5 -2 3
-1 1 2 ) 0o 3 1 )
D 4 -2 3 1 2 4 0 -2 1
o 5 1 - 4 1 -1 3
17 0 1 2 7 1 1 1
-1 1 0 3 Xy Xo Xz Xz
D 0 1 2 3 ) x? x3 x% x3
-3 0 1 1 x; x5 x3 x3
3.14. -1 Yupgh npnphsGhpp’

a-b
a+b

3

—sinal,
9

Cosa

3)

6)

X © O O
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x 0 0 0 a 1 a 0 0 0
-1 x 0 0 a 1 1+a a 0 0
0 -1 x 0 a, 0 1 1+a 0 0
1) i2)
0 0 0 X a,_q 0 O 0 1+a a
0 0 0 -1 a, 0 O 0 1 1+a
; _a —a a4 a+p af 0 0
2 a+f aoff 0
2 1 -a -é 0 1 a+p 0
»HIB 2 1 -a; 4)
n n-1n-2 1 0 0 0 atp
0 0 0 1
X a a a 1 1 1 1
b x 0 0 X;  Xo X3 X,
5|b 0 ol; 6| XX xi x5 2
b 0 0 X Xyt oxg7t X x1
3.1.5. Lmoty htiwn§yw) hwywuwpnudGpp § wihwjwuwnpnuiGhpp
3 X —-X x2 1 4
| 2 -1 3|=02|x 1 4|=0;
x+10 1 1 -2 1 12
X 2 - X x+1 x+
3)|2-x 5 6|=28;4)x+3 x+4 x+9<0;
2 -1 8 X+6 x+7 x+8
3 -2 1 2 x+2 -1
517 x -2<0; ¢)lf 1 -2>0:
-1 2 -1 5 -3 «x
3.1.6. <wpyty 2A -3B dwuwphgp, tph’
-y el )
-4 5 -1 3
-2 5 0 17 10
A= 2 0 3| |B=|2 1 0};
4 -1 -2 -1 2 3
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1 2 1
A= 3 ,B = 0 3:
-1 0 4 4 -2 1

3 0 -1
3.1.7. SpjwotG A ¢ B dJwwmphgGpp® A=|-2 1 1|,
17 -1 0
-1 2 -1
B=|3 1 -2|: Quik htm§ju dwwnphgGtpp'
0 1 -3
1) A+B; 2) 3A-B; 3) AT +3B7:

3.1.8. <wyyty dwwnphgGbph wpmwnpyuin.
3 -2\3 4\ 2 -1(4 -3)
D s —4j(2 5]’ 2) (3 ZJ(G —4)’
4 16 5). 3 -2)0 2)
) o 3}(2 —1}’ K [1 5}[3 1}’

4 -1 -4 0 2\1

5) _12;_65J02; 6)| 3 -1 1]-2|;
1 1 1 2 3)\2
3 1 28 -2 -3 —4 -2 -2Y-12 o0
nl1-13/0 2 ol®|3 1 2|13 2
4 1 1)-1 1 5 0 -7 50 1 -2
5022?2 -3 2Y4 37 3
DL T O T, 10)(4 —6](7 5}(2 1}
31 -13
4
-2
1@ 3 4)1
5

3.19. QuGh AB, BA, ATBT ¢ BT AT swwphgGhpp, tph

0 1 0 0 1 -3 0 -1
T A L)
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Do 1 2 0 -5 1 0 ;
3)A:[2 3 2}8: 1T 0];4HA=|3 0 -2 0,B=1 ’
B 31 17 1 0 0 3

0
3.1.10. Qulh; A dwwuphgp, tipk
1 1 cos¢p —sin 0 1
I)A:(O 1} Z)A:(sin;) COS(ZJJ;:S)A:(O OJ;
o 1 1 17 2 3 ;o
4HA=/0 0 1];5A=|0 -3 -6|; 6)A:(0 _J:
0 00 0 2 4
3.1.11. Spywd t f(x) = 2x%-3x + 5 puqiwbnunip: <wpyby f(A)— Y, tipti

1 2 1 -1
I)Az(o 1}’ Z)Az(z 1}’

1.0 -1 1 -1 2
HA=|-1 1 0 [;aA=[0 1 —1]:
0 1 -1 00 1

3.1.12. Qulb] htm§jw) Ydwunphgltph hwjwnwpé dwnphgp'

3 2 -2 4\ 1 1)

D 43]’ 215 4]’ 3 [7 5)’
. 0 1 3 0 -1
4)0_1]; 5511 -11 6|2 1 1]
0o 1 1 17 -2 -3

-1 -1 -1 2 01 3 2 -2
-1 -1 118 |-2 4 3|; 9|3 0 4]|;
-1 1 1 -3 10 21 0
8 6 -1 4 10 0 -1 -2
102 0 -2|; 11)|-2 0 3|5 12)| 2 3 1 §;
01 1 2 11 -2 0 4
4 2 -1 3 4 0 3;23
13)01—3;14)—212;15)2333;

52 0 170 -1

3012
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12 3 4 o1 1 1 o 1 1 1
2 1 2 3| 1.0 1 1| -1.0 1 1|
16) 3 2 1 2 17) 1710 1 18) -1 -1 0 1|
4 3 2 1 17110 -1 -1 -1 0
3.1.13. <Qwpyby htim§juy dwwnphgGtiph nwiqp’
3 1) 5 1 3 2)
D1y —2} MNg -3 Mo 6}’
17 3 1 17 2 3 2 3 4
4H |12 -1 1} 51 0 15 6|17 0 -2|;
3 2 2 -1 2 1 0 4 5
; 2 z 0 -1 0 2 -1 3 -2 4
7)789; )17 0 21594 -2 5 1 7|;
o 1 0 2 -1 1 8 2
10 11 12
2 -4 3 1 0
1 -2 1 -4 2|
10) 0o 1 -1 3 1|
4 -7 4 -4 5

3.1.14. Lmot) dwunphguwjhl hwjwuwpmiGbpp
1 2 4 -6 1 2 35
X = ; X = ;
ol =2 Tk a5 5 o)
[ I ) PR 3 2 2 4
»X[2 1 0|=(4 3 2 ;4)(3 2})((_5 3}:(‘3 J;
1 -1 1 1 -2 5 - -

o7 oo olo 5 oz - 3
oz e

3 5
3.1.15. QuwGh] pninp JwwphgGbpp, npnGp wmbnuihnjubih GG (1 2)

dwwunphgh htin:
3.1.16. 8niyg wmwy, np (A—B)(A + B): A?+B? pwlwda§p Ghpwm b wyl §
dhwyG wyl nhiypmy, tpp A § B dwwnphglbpp mtnuithnfubih GG:
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3.1.17.

3.1.18.

3.1.19.

3.1.20.

1)

3.1.21.

3.1.22.
3.1.23.

3.1.24.

3.1.25.

3.1.26.

3.1.27.

3.1.28.

3.1.29.

3.1.30.

3.2.1.

40

8nijg wmwy, np tph AZ=A, wwuw (2A—E)2 =E, npnbn E - Y dhw-
Unp dwwnphg( E:
A pwnwlnuwjhG Ywunphgl wyGwhuhG b, np A™ = E : Uyugnmgh,
np A— Y hwliunupdbih t § quit; A"
Glpunptlp A” =0: Uwwugmghy, np E+A+A%+...+ A™  dwwnph-
gn E — A dwunphgh hwuwnupdG t:
h°G; Ywnphgny whwp k puqiuwyunyt; A dwwnphgp, nputiugh
unwgyh’
A — C wnwohG uymip;  2) A — C wnwoh( wnnp:
A § B hwlwnupdtih dwunphgGtpp mtnuihnpubtih G6: Uyugmgty,
np A7 § B”' swwnphgGtpp GniGutu mbnuihnfubih bG:
8n1jg iy, np (S'1AS)m =S7A"S:
Glapunptp B=S7AS: 8nyg ww;, np guljugwd f(x)
pwqiwlnuih hwdwp f(B) = S'1f(A)S :
GGpwnptlp, np A-— Y wlyymbGuqowhl dwwphg £, nph wynmbGu-
qow)h( bitdbGnGtpp dhijulghg wwpptp GG § AB = BA: 8n1jg wiwy,
np B - Y GnyyGutiv wGyniGuqowihG dunphg t:
Uwuwgnighy, np tpk A- Y wlynGwqowjhl dwwphg L, nph pnnp
wllymbwqowjhlG twdtlwmbGbppn qpnjhg wwppbp GG, wwyw  Gw
hwlywunupdbht § A7 -A Gin1yGutiu whlyyniGuqowjhl dwwnphg k:
Uwwgnmgli, np tpt A— Y hwiwnupdbih § hwiwswih (uhdtnphly)
swunphg b, wygu A~ = A Gy Gugbu hwdwswih E:
Uuyugnighy, np tip A" — Y oppngnliwy Swwnphg (AAT = E), wuw
Gw hwlywnupdtih £ § A7 — Y GnyyGuybiu oppngnGuy t:
Uuyugnighp, np ipk A— Y § B— Y hwtwsunh dswwnphgGhp b6, wugu
AB — Y hutwsunh swnphg b wjG § ShwjG w6 ntwpnud, tpb Gpulp
wmtinwihnfubih GG:
Glapunptlp A-Y Yuwiwjwywl pwnwinuwjhG dwwphg  E:
Uwuwgmgl, np A+ A™ § AA™ dwwnphgGhpp hwdwwih GG:
Uwwgmgliy, np tipt A — Y hwdwswith dwnphg b, wyu A¥ dwnphgp
(niyGubu hwdwswih b guGiuguwd pGuywl kK — ¢ hwdwp:
« 2 Qowghl hwjwuwpmdGhph hwdwlwnpgbn
<twn§juy hwiwupgbpp ot Gpuwdtph YuGnGny
-3x,+5x,=-12 -3x,+2x,=1
5 2 ;
2X,—7x,=8

2

2X;,— X, =5



3.2.2.

3)

5)

7

9

11)

13)

15)

3X,— X, +2x;=4

X;— X, =Xy =—1

X;+ X, + 2%, =4
2X;— X, + X3 =3

3X,+ 2%, +2%x;=4;

X, =X, +4x,=-2
2X,+3X,—X;=2

X, +2x,+3x;=0;

X, —X,—2x;=6

X, +2X, +4x, =23
5x,+x,+x;,=10 ;
3x;,— X, +x;=10

X, + X, + 2%, =—1

2X;— X, + 2%y =4 ;
A%, + X, + 4%, = -2

X, =X, + Xy —Xx, =—1
2X;+ X, +2X5+ X, =3
X;+ 3, +3x; - 2x, =-3
—2X,+ X, —X;+2X, =4
X, +2X,+3x;-2x,=6
2X;— X, — 2%, —3x,=8
3X;+ 2%, — X3+ 2%, =4
2%, —3X, +2X;+ x, =8

4

6)

8)

10)

12)

;14)

2X;— 3%, +4x;=4
X;—2X,+7X;=6
3x,—4x,+3x;=4
X, —4x,-3x;=0
2X,+3X,+X5=1;
3X;+ X, —X3=2
3X,—2%x,-2x;=3
2X;+ X, + X3 =-5 ;
5x;,—X,—3x;=4
2X,—X,— X3 =4
3X,+4x,—-2x,=11;
3x;,—2x,+4x, =11
3X,+2X,+x;=5
2X,+3x,+x53=1
2X,+ X, +3x5 =11

X+ X, +2%X,+3x, =1
3X; =X, =Xy —2X; =4
2X,+3X, — X3 — X, =6’
X, + 2%, +3x; —x, =—4

<t §juy hwiwupgbpp (niot] hwjwnupd dwnphgh oglnipjudp

3)

b

2X1+3x, =-1
{4x1—x2 =5
2%, —3X, —5x5 =1
3X;+ Xy —2%x5 =—4;
X;—2X,+X3=5

4

- Xi+2x;=3
{3x1—4x2 =-5
X;—3X,+X53=2
2X;+ X, —2X3 =8
2X;— X, —2x3 =8

41



6)

10)

12)

;14)

4x,+3x, —2x5 =—1
X +X,+X3=3
X;—2X,—3%x5 =8
3x4+3x, +2x5 =—1
2X;+X,—X3=3
X —2X,—3%x3=4
2X;—2%x,—-3%x3=3
Xy+ X+ 2x3 =-1 ;
2Xy— Xy —X3=2
2X;—X,+x3=0
Xq+ + X3 =-1;
33X, + X3=-2
Xo+X3+Xx,=0
Xp+ Xz +X4=1
X+ Xo+Xy4=2"
X;+X,+X3=3

3.2.3.

1)

3)

5)

42

2X1+3Xy — X5 =2

5) 1X1—Xp+3x3 =-4;
3x;+5x, + x5 =4
5x;—2x, + X3 =—1

7) 92X+ X, +2%x3 =6 ;
X;—3X,—X3=-5
4x; +5x,=8

9) 12X+ Xy +2x3=3;
X;+3x, =-1
2X;— Xy —2X3 =3

11) Xq+ 2Xy =4;

2Xy+ X3 =2

X;+2Xy+3X3+4x, =5
2X;+ X+ 2%X3+3x4 =1

13) Xy +2X, + X5+ 2x4 =1
4%+ 3X5 + 2X3 + X4 =5
X+ Xg+X,=1

15) —x1+x3+x4=1:
- X=X+ Xy =1
—X;—Xy,—X3=1

<t §juy hwiwjupgbpp ot Gwniuh dtpnnny.

3X1—3X2+2X3 :2
5x;—6x,+4x5=3

X1—X2+2X3:3
2X,+4x, —bx3 =-3;
4x,;—3X,+2x53 =6

2X;+ X, —X3=—6
X+ Xy +2%X5 =-2;
X, +5x3=2

2)

4

6)

3X;+2%x,-4x3 =8
2X;+4x, - 5x5 =11,

4%, —3X, +2x5 =1

A%, +8X,+3x5+2x, =7
Xi+7Xo+X3+X4=6 )
—3X+ X, +2X53 -3x, =—1
7x1—3X,+5x4=-1
X;+3X,+X3+2x4 =4
—2X;— Xy +5x3-x,=0;
2X1+ X9 — X3+ Tx4 =—1



2X;—Xp +3X3 —2X4 +4x5 =1
T) 14X4—2X, +5X3 + X4+ 7X5 =15
2X;—Xp, +X3+8x,+2%x5 =3
2X1+ Xy —X3— X4+ X5 =1
X;—=Xo+Xg+X4—2X5=0
%) 3X;+3Xx, —3%x3 —3x, +4x5 =

4x;+ 5%, —b6x3-5x,4+7x5 =3

X;—2Xy +3X3-4x, =4
Xy —X3+X, =-3

3xy =1

—7X, +3x3+x,4 =-3

1 X;+3X, —

Xo—3X3+4x4 =-5
X1—2X3 +3x4 =4
3Xy+ 2%y —5x4 =12

4x4+3x5 —5x3 =5

13)

X1—5X2— _2X4:8
s 2X;—2X; +5X3 +4x4 =7
) 2X1—7X2— _X4:7 |

=-1

X;+5x,— X3
324

2

2X;—X,+3x3=0
- X;+3%x,-7x3=0

X;+4x, +3x3+6x, =0
3) 2%, +5x,+x3-2x4=0

X;+7Xy—10x3+20x, =0

2

8)

10)

12)

14)

Lot hwiwutn hwjwuwpnuiGtph

2)

4

X;—2Xy,+ X3+ Xy =1
X;—2Xy+X3—X4=—1;
X;—2X, +X3+5x,=5
X+ Xy —3x5 =—1
2X1+ X, =2x3 =1
X;+Xp+X3=3 "
X;+2X,—3x53 =1
X +3x, +5x3—4x, =1

Xy +3X, +2X3 —2X4 + X5 =1
X;—2X,+X3—-X4—X5=3
X;+4Xo + X3+ Xy —X5=3
X;+2Xy+ X3 — X4+ X5 =—1
X1+ Xo+X3+%x4=0

Xo+ X3+ Xg4+X5=0

X1+ 2Xy+3X3 =2

X2+2X3—3X4 =-2

X3+ 2%y +3x5=2

hwdwwnpgtipp.
2X;—Xo+X3=0
X;+Xo—4x3=0 ;
X;—2X,+5x5=0
X;+3X,+2%x53 =0
2X =Xy +3x3=0
3x;-5x, +4x3 =0’
X;+17%x,+4x53 =0
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X;—2Xy+X3+X4—X5=0 3x;+4x, -5x3+7x,=0
2X1+2X; =Xz = X4+ X5 =0 2X1—3X;+3X3-2x4 =0
%) X;+7Xy —5x3—5x4 +565x5=0" %) 4x;+11x, —13x5 +16x, =0’
3X;—Xo—2X3+ X4 —X5=0 7X;+2X5+X3+3x,=0
X;—2Xy+X3—-X4+X5=0 X;+X,— —3x4-%5=0
2X1+2Xy —X3+2X4 = 3X5 =0 X;+ Xo +2X3 — Xy =0 .
K 3X;—2X, — X3+ X4 —2X5=0 "~ 8 4%, - 2X, + 6X5+3X, —4x5 =0
2X;—5X, + X3 -2X4+2x5 =0 2X;+ 4%, —2X3+4x,4 —7X5 =0
2X;+4x, +6x53+x, =0 X, +3X,+2x,+2x,+5x, =0
X;+2X,+3X3+x,=0 2X,+ 2%, +3x,+2x,+5x, =0
%) 3x1+6x2+9x3—x4=0; 10) 3X, + X, +X,+X,+2x;,=0 ;
X;+2X5+3X53+5x,=0 X, +X,— X, +X, =0
3X,+X,-8x,+2x,+x,=0 X;—=3X,+X3-X4—X%X5=0
11)92X,— 2%, = 3%, = 7x,+2x, =0 5 12)77X;+2X, —X3 —2X4 +2X5 =0;
X, +11x,-12x,+34x,-5x, =0 2X;+ 85X, +2X3+ X4+ X5=0
X+ X, +10X3+X4—X5=0 X1+ 2%, +X3+4x,4+Xx5=0
13)16x; — X, +8x3 —2x,4 +2%x5 =0 ;14)12X; — X, +3X3 + X, —5x5 = 0;
3x;—3x, —12X53 —4x,4+4x5 =0 X;+3X, —X3+6x,—x5;=0
Xi+Xo+X3+2X4+X5=0
15)9Xs +2X, —=3X3+ X, — X5 =0:
2Xy— X, —2x3+3x, =0

3.2.5.  <twm§juwy puwnwyniuwjhG d§bpn ptipt) julnGuywl nkuph.

2 2.9y 2 2. 2 2,
1) 4X7 +4xX5+5X552) X7 — XXz —X533) — x'x?:4)  25xX7 +30X:Xy + X3
5) X7 +4X;X5 + X3 + 2XoX5 — 4X3 5 6) X7 + 2XXp + 2X;X5 — X5 — 6X,X3 — 4X3 ;
7) 2X12 + 8X4X5 + 4X4X5 + 9x§ + 19X§ 3 8) 9XZ — 12x;x, — 6X,X5 + 4X3 + 4x,X5 + X2 ;
9) x,2 + 2x§ + 2x32 + 3x§ +2X Xy + 2XpX3 + 2X3X 45 10)  XyXo + 2X,X3-3X3Xy;

. 2 2 .2
11) 2X4X + 2X3X 45 12) XyXp + XpX3 — X7 — X3 = X33

2 no, n-1 2 n-1 ;
13) X3 +2122Xi —2Z1Xixi+1§ 14) X3 +2_Z1(_ 0 XiXi.15
1= 1= i=
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15)ZX + Y XiX;316) 1<,<j<nxxf? 17) —ZIX +2 ¥ XX

1<i<j<n 1<i<j<n

«3  whwlh JEymopulpnl vmumudmpin GGGp

Yhlpnnplbph qouyhl wfnjuidnipnilp § whlufunipinilp:
GlipumumudnipyniG6bp: oughl d§unhnfunipiniGGGnp:
33.1. R,-460 wpywd t f,f,,..,f, ytiunpGhph puqinpyniip: UGgwwnt)
dwpuhiwy qonptl wlwju Yyaywmnplbph pwqinipnilnp, huy sGugwo

JtyumnpGtpn wpnwhwjmty wyn yaiumnpltph qowjhG yniphGughwjh
wmbiupny:

) f,=(-16),f,=(32) f3=(-11);
2) f, (2), f, = (3:2) f5=(#1) F,=(23);

3) f,=(21-3) f, = (31-5), f3=(42-1) f,= (1t0-7);

4 f,=(421) f, = (2-1-5), f3=(- 237) f,= (2110);

5 f,=(227-1) f, =(3-124), f3=(1137);

6) f,=(32-54) f,=(3-13-3) f3=(35-1311);

T f=(23-4-1) f, = (1-213), f ;= (5-3-18) f ,= (3:8-9-5);

8) f,=(235-41) f, = (1-1235), f3=(378-11-3) f ,= (1-11-23);

9 f,=(2-134-1) f, = (12-312), f3= (5-51211-5) f ;= (1-36;3-3);

10) f,=(43-11-1) f, = (21-3:2-5), f3=(1-30;1-2) f ,= (15:2-26):

332. R,-46U wpwd GG f,f,,..,f, f ytiunpGhpp: Snyg wwy, np
f,f5,..,f, YaunpGhpn yuqimd 66 pwghu § qulty f — € ynnpphGuwn-
ﬁhpn wjn pwghunty:

) f,=(10), f, = (11), f = (13);
2) f,=(0-2) f, =(31), f= (- 6-4);
3) (100) f, = (£10), f5=(111) f= (213);

4)  f,=(1=11), f, = (-213), f3= (- 3-22) f=(10,13-5);

(

5 f,=(322)f, =(237) f3=(113) f= (5111);

6) :(153) f, = (21-1) f3=(421) f=(3129:10);

T £ =(1111), £, = (+1=1-1), fy= (=11-1) f ;= (1-1-11) f = (48:44);
8) :(1101) f, = (2137), f3= (110,0) f , = (0;1—1-1) f = (15:2-26);
9 f,=(1213), f, = (1122), f5= (1113) f, = (3-57:2) f= (- 18-65);

1=
10) f1 (#1111), £, = (- 12103), f3=(21421) f , = (0:2-15.3)
f5=(7.00-10) f=(44-1-26):
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3.3.3.

1y
2)
3)
4
5)
6)
7)
8)
9

3.34.

3.35.

46

Gt mpywo Yyuyunpltinh puwqdnipjuwl qowjhlG pwunulph pwghup §

swthnnulwlnipniGn.

f1 (1=1) f, = (- 16) f3 = (- 11);

1
1
1
1
1

1=1), f, = (- 11), f3=

(2-2);

3:20), f, = (- 3:6-15), f 3= (0-4:15);

127

1= (1
1=
| = (1111), f, = (1113), = (3-57:2);
= (1213), f, = (1113), f 3= (10:13);

= (1111), f, = (1213), f5=(1122) £, = (1113);

= (1117), f, = (2222), f3=(3:3:33) f, = (11:2:2);

= (213-1), f, = (- 11-31), f 3= (453-1) f ,= (15-31);

= (2131), f, = (£201), f 3= (- 11-3:0);

10) f,=(2013-1), f, = (110-11), f 3= (0:-2153) f,= (1-3:29,5) :
QuGt; A dwwphgny npnpynn qowghG d§uwhnfunipjuG sheniyp §

wunytipp.
25 60
A= ; A=
b 60 144] 2
o 1 1
A= 1 1 0; 4 A=
-1 0 1
4 3 1
5H5A=|-3 -1 01]; 6) A=
-1 -2 -1
17 2 1 -1
HA=|-1 1 2 2|8 A=
173 -1 0
-2 -2 2
-2 -2 2
NA=|-3 -2 2 |; 100A=
4 -1 1
6 5 -5
Qunlk;  htn§yuy  dwwnphgltph

-2 5 3
-2 5 3
2 -5 -3
17 1 1
1 1 1|;
-1 -1 1
1 1 -1
1 -1 1
-3 -1 1
-3 1 -1
2 -1 1
1 1 -2
2 1 -5

1 -1
3 9
3 6

2
~14
-9

utithwywG

hwdwwwnmwujuw( ubthwlwl Yyayumnpltpp.

b

1

wndtpltpp

§



179
o (7 9)

-1 2 1
4|2 0 -2
-3 2 3

2 1 1
-1 2 3
3 -1 -2
2 -1 2
100 5 -3 3
-1 0 -2
3.3.6.

0 4
2 (5 1)

17 -1
;5 |-2 0

0 0

-1 3
;8 | 1 1

-2 2
;11)

1 2)

3 2}

o 1 2

-1 2 -3|;
17 -1 5

3 1 0
-4 -1 0 |;
4 -8 -2
71 1 1
11 -1 1]
1 -1 1 —-1|
17 -1 -1 1

Quit; Ax =0 hwjwuwpnuiGbph hwdiwlwpgny npnpynn qowjhG

nwnpwonipjwl swihnquywlnpymbp § pwghup.

) -3 10
A= “UlyA=|-7 4
1) (_2 6j,z)
_2 -3
6 9 8 31
4)A=(0 y 6];5)A= 2 10
10
2 -1 3 -2 4
NA=|4 -2 5 1 7|
2 -1 1 8 2

3.3.7.

hwjuwuwpnmiGtph hwiwywuwpgp.

1) f; = (111), £, = (123);
—11), £, = (3:2);

3) fy
5) 1,
UKL
81,

3.38.

~10 -3 1 -2
-4 153)A=| 6 -2 -4|;
3 ~15 5 —-10
33 -4 -3
06 1 1
OA=ls 4 2 1|
23 3 2

UQuqitp wpqwo ythumnplGiph qowyhlG pwnwulpp npnynn qowjhG

2) fi= (7,'—1), f,= (_ 1-1);
4 = (111) 1, = (1219);

6) f, = (0,000);

3):

1 2

htn§juy 4 §wthnfunipniGGLpp.
1)Ax = (6x1 —5Xy —4X3,— 3X;— 2X5 — X3, Xy + 2x3);

=

= (

= (1111) £, = (£213) 5 = (112:2) £, = (1113);

= (1111) £, = (1113) £, = (3-57;2) f, = (1-7:5-2);:

Qwlnhuwlnm®S GG wpynp qowyhG
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2)Ax = (6— 5Xy —4X3; 3X;—2Xy — X537 Xp+2);
3)Ax = (xg’; 3Xy—2Xp — X3 Xo + 2x3);
) Ax = (5x;—4xy —3X3; 2X;— Xp, X5+ 2);
S)AX = (4x,—3X, —2X3; X3, X1+ 2X5 +3X3);
6) Ax = (2x1 + Xp Xp — 2X37 3X; — 4x2 — 5x3);
7 Ax = (x,, Xq+ 2X5 +3X3, 4X;—5x, + 6x3);

)

NAx = (0; X;+ 2%, + 3x3; 4X;+5x, + 6x3);
1(Ax = (x1; Xq1— X3, Xy +x3);
LAx = (1 XX3; Xp+X3);
1IZAx = (2x1 + Xy X3 2X5 + 3x3):
3.3.9. Glpwnnklp
X = (x1; Xo; X3 ) Ax = (x2 — X3, X4 Xq+ x3) Bx = (x2; 2X 3, x,): Qulty
1) ABx;  2) A%:  3) (A%-Bk: 4) B 5) BAX :
6 B%: 7 BA%x: 8 (A%+B)x; 9) (A2B2x; 10)(AB%);
11)(3A2 + BJx ;12) B(A-B)x ; 13)(B-A+ B2 )x;14) (38 + 24%)x :

3.3.10. (e;;e’2;e’3)) pwghumy, tph wyG
unpquo k (61;62;63) pwqhuntd.
x =(6-13) x = (18:4)
er=e/+e,+2e; ey=e;+e,+3e;3
b e, =2e,—e, ’ ) e, =15¢,—e,
ey =—e,+e,+6e; e;=—e,+e,+6e;
x = (24:1) x = (148)
ei=e;+e,+15e, e;=e,+e,+5e;
3 e, =3e,-¢e ; X e, =125e,-e .
2 1 2 2 1 2
e3=—-€e;+6e,+6; e3=-6;+6,+6;
x = (841) x =(105:1)
er=e;+e,+125e3 er=e;+e,+12e;
3) e, =5e,—e, ’ 6) e, =6e,—e, ’
ey =—-e,+e,+6; e;=—-e,+e,+6e;
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x =(2:5:10)
7 e? =e;+e,+6e;
e,=12¢e,-e,
e;=—e;+e,+e;
x =(2:43)
er=e;+e,+0.5e;

2

9
) e,=-e,-€,

ey, =—-e;+6e,+6e;

x =(-3:24)
ej=e,+e,—e;
e, =0.5e,-e,
e;=—-e;,+e,+e;
x = (7-510)
ey=e+e,—-4e;
e, =08e,-e,
e; =—e,+e,+6e;

8)

10)

3.3.11. Qult; Ywwphgp (e;;e’z;eg) pwghumy, btph wyl wpjwo k

(61,'62,'63)pluqhunlli.
e;=—e;+2e,+e;3:

170 2
1) A=|3 -1 0 |;
17 1 -2
0 2 3
3) A=|4 1 0 |;
2 -1 -2
2 0 1
5 A=| 3 0 2|;
-11 2
173 0
7N A=|2 1 -1}];
0 2 1
o 1 2
9) A=| 4 0 1|;
-1 -2 1

§ ej=e,—e,+6e3 €, =—e,+e,—2e5;

2 1 0

2) A=(3 0 4|;
17 -1 2
172 0

4H A=(3 0 -1{;
2 1 -1
0o 3 2

6) A=(2 1 -—1};
0o -1 2
2 1 2

8) A=|3 0 2|;
170 1
17 1 0

10) A=(0 -1 1}:
2 3 1
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QLNOMu IV

LUQUNM-3NFLLELR, DAFLUSKULER, UULUULLE D
SEUNKME-3NML, UOULS3UL 4. Hhd6LEULShUL
2hdELEULShUL LUCYDh Uh UNNME3NFLLELR

8 1. PwqumpimGGhp, pmGhghwlGhp § quuphlGbp
4.1.1. Sniyygnmw,np AnBc A ANBcB AcAuUB Bc AUB;

AnB=BnA,nptn A-Y,B-Y, C-Y nipjud
pwquinipjniGGtina ta:

4.1.2. 9hgnip A= {12357} B=1{34789;} C = {t245}: Qwnll
)1 AUB; 2) AuC; 3) BuUC; 4) AnB;
;-Bmc; 6) AnC; 7) (AuB)ucC; 8) Au(BNC);
?.AQ(BUC) 10)An(BAC):11)(AUB)A(AUC);12)(ANB)U(ANC):
4.1.3. Uyuwgmgtb], np(A-Y, B-Y, C- YapJwo puquinpmGGtpG
Ld):
1) AU(AnB)=A; 2) An(AUB)=A;
B Aj
3)Am(z):®, 4 A \BJ.
(Buc) c’

5)%:(A)U(AQC); 6 (A
9
4.1.4. Qult] PmGyghwyh npnpuwl wmhpnypp § wpdtpGtph
pwqunipjniln:

2
1)y:x7; 2) y=v1-2x7; 3) y=x+sinx;

4)y:Ig(x2—2x+1); 5) y=arcsin(1-2x); 6) y = arccos— 12:
~x
4.1.5. Qb f(g(x)-A §g(f(x))-A, tipk
1) f(x)=+x, g(x)=x?; 2) f(x)=x?+1 g(x)=+/x-1;
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3)f(x)=sinx, g(x)=x*-1; 4) f(x):%, g(x)=x2:
4.1.6. Qwult] mpywo pnilGyghwjh hwwnund $nlGlyghwG

xX+1 xX+1

Dy=20-3: 2) y=2o2: 3 y=" 4 -

4.1.7. Qunmgh] $nilGlyghwjh gqpuwdphyn

1)y=1+1X2; 2) y=x+e*; 3) y=x+sinx;
5 1, »Ap x>0
4)y={x’»~npx<0; 5) y=10, »iy x=0; ) y=sinlx|;
X, »Au x>0 ~
—1,»Au x<0
Ny=x>+x; 8) ¥ =|cosx:
4.1.8. QulGt) $nGyghwjh wupptipnipniGp
) y= 1+cos? x ; 2) y=cosx+sin2x; 3) y=arcsinx;

4) y =+cosx; 5) y=cosx’:

-2’ X 1-x’

4.1.9. Uqwo pnGyghwGtphg npn°Gp GG YuGw, npn’Gp qnuyq, §

npn°Gp’ ng qnijq § ng £ Yhlu:

X
1)y=x4—2x2; 2) =ax+;; 3) y=sinx-cosx;
1-x . e¥+e™*
/n— =sinx; = .
Hy=nTX; 5y 6 y-22
a* -1
Ny=2"%; 8 =X :
)Y ) ¥ a*+1

8 2. UwhuwGGEph mbumpjniG
4.2.1. Quih {a,} pyuwjhlG hwonpnuywlimpjul uwhdwlp.

n 1+ 4n?
1) a, 2) a,=——;
) A ) & n?-3n+2
3) 8, =" S_10n%+1. 4) a - 1000n° +3n?
" 100n%+15n’ " 0.001n*-100n° +1’

_(n+1P=(n-1° . _(+1' —(n-1)*
S e e R ) A

(n + 1)2 + (n - 1)2
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(8-n) —(2-n)* .

(1- ) —(1+ n)

(n+10) +(3n+1)
(n+6)°—(n+1°

7) a, =

9) an

7

8nd —2n .
(n+*—(n-1*"
(2n+1) ~(n+1°

n+n+1

8) a, =

10)a,

4.2.2. Quh {a,} pywyhG hwonppuwGmpjul uwhdwbp.

n?+1

Nn—1-
Pan® s34+ 1’

5) a,=

7 an =n(\/n2+1— n2—1);

9) a, =\/(n2+1Xn2_
11)a, :(”JFWJ;

33
4) a _¥n°+2-3n+1.
! Q/n4+2—\/n2+1’
3 5.2 3[ 4
6) a, = \/n 2n +1+\/n +1

InSv6n®+2-§n"+3n’ 11’

8) an :”[m—\/nz——b’];

4)—\/n4—9 ;10)a, = /n(n+2)-vn?-2n+3;

12)a, = ”‘/F(”—MJ:

4.2.3. TiV»E {a,| R3cannisvasA0sy e3NUsYA.

1+2+3+...+n

1) ay=———7F——;

1+3+5+...+(2n—1)_2n+1.

2) a,=

n n+1 2’
I
5) a,,=1+5+9+1::'1"+(4n_3) 4n+1 .6) a = n+r1;)!!_n!;

I !
7 a =" +(i).++(3r;!+ 1, 9 ((7; - 2)) ((n+1))
% an:(2n+(212.:1(§r)1!+2)!; 10)an—( ; gz(sn;n’
11)a, =%; 12)a, = ((2:: ))’,+((2Z::;))l,
13’)3”21-_12+2.3+ +(n—11) 14)8n = 113 315 +(2n—1)1(2n+1):
4.2.4. TIV»E {a,} N3canisyasA03Y e3NUsYA.
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2[7_1 2n+1+3n+1
1) a,= : 2) a, = s
) a 21 ) @ 2" +3"
1 1 1
2n 5n+1 +§+37+ +37n
3) a,= N 4) a, = s
) n 2n+1 5n+2 ) n 1+7+i+ i
5 5° 5"
5 13 3"+ 2" 7 29 2"+ 5"
5) a, =—+—+ ; 6) a,=—+ ;
) @ 6 36 6" ) @ 10 100 10"
n-1Y 1Y
a, = ; a,=|1-—| ;
7) a (2n+1j 8) a ( 4nj
n’ 2n+3
1)z 1 _(3n+1 .
9) a, :[1—;] ; O) n (3”—1 ’
n+3 n+4 n—1 n+2
a, = ; a, = s
1a, (n+5j 12)a, (n+3j
2 3n+2
13)a, - 2n?+2) 14)a, - n?-6n+5) .
" 2n®+1 " \n?-5n+5
2n-3 3n-1
15)a, - n2_on+2)" . 16)a, - n?+3n+3 ! .
" n-n+1 ’ " n+2n+7
4n+1 2n+1
17)a, = 2n?+n+1 n+, 18)a, - 2n?+3n-3) .
" 2n’-n+3 ’ " 2n? +4n+1 )
4.25. TiY»E ya6YiocsUC e3NU3YA
2 3
1) /im(x2+3+lj; 2) /,-mw; 3) jim X+ 9% .
Xx—2 X x—1 3X2 -2x-5 x>0  2X ’
2 2 3
4) IimX2—6X+9; 5) /imX2—2X+1; 6) lim = T
=3 x° -9 X1 X +x-2 x>t X+1°
2 3 2 8x® -1
. X“+2x-8 XU+ 3X°+2x lim :
N, g-x> 8 Jm, x2—x—6 +9) H%6x2—SX+1
-2 x? -1
10 1im X1, 11) lim X1y im X
x—>1x" —1’ x-2x% _4x+ 4 x>-1x2 4 3x+2°




3 3 2 _
13)Im (?+1)x+a 14)/ —(X+h) —X .. 15) lim W;
x—a x’ —-a h x>-33x“ +11x+6
2 ox2
16) iim 6-x—-Xx ; 17 ) 2x2 +15x + 25 18)/ 9x+9:
x>-33x2 + 8x — x—>-5 —4x—x? x>3 x? _5x+6

4.2.6. iY»E yaoYIo(;3U(; e3NU3YA

Im\/x+7—3' 2) i N1+ 2x =1+ x 3) lim N1+ 3x —v1+4x |

1 _ ;
)x—>2 2-x ){I—>mo X ’ x>0 x(1+ 5x)
— 3 J—
4) jim YX*2-3. 5 im X & 6) im 3% 2.
x=7 X-—7 x—>1 \/_ 1 x—>8 X—8
7) lim X2_4 .8) '\/2X+ -3 9)/ X2+1_1 .
2 I-dx -3 ) %05 x2_g x>0 x2 1 164
10) lim X_1_2, 11) lim V14 x _1,
x-»5 Xx-5 x—0 X2
J _ . Ax-b-+a-b
12)/mM (x>0); 13) /Im)<2—a (@>b);
h—0 h x—a X —a
{x -1 Y74 x3 -3+ x2 YTrx -1
14 lim ; 15) j; + X + X -16) jim X2~ 1.
)X—>1’Q/;—1 ))I(IT1 x—1 ’ )XI—% x
17) fim VX8 e im ““’“W- 19) lim YX*3 -2
64 3[x — 4’ hes0 > X1 &_1 ’
20) fim \/1 xX-2 21) lim V8-x-3 | 22) lim Y 1=X =3 N11-x-3 |
x>-34_J1—8x " xo-12 7+ 3x x>210+3x -4’
«/x+ 2 X J3x-5+2
//m— NIX—o+2,
23)/m )X%2§/_3+1 25))/,» 1 x+1
4.2.7. D3B|»E yaoY'|'c'>c;3uc; &N U3YA
3-2x-x2 4x3 - 5x+2 . 3x%2-5x+4
1) lim—/——"———; 2) lim —;3 —_—
) X—® x2+4x+1 ) X%w3+x2 3x3 ) xon x5 x+1
4 | 5 2x+1 5) 1 -2x+5 :6) | x?—2x% -5x
X%w 2x2+x-3° %wx -x3+2 ’Hw 5x% +x2-3 "
7 X/inzw(«/x+2—x/;); 8) Iim 7+“2X _1;9) X/inzwx(x/x2+2—x);

X——0

2 1 3 X2
10) Vax© +1, lim ; 12) lim| ——-——1;
)X/i)n_zw—x 7 5 )X~)—OO I + 1 )X—>ao 2 -1 2x +1
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[,2
13) lim M;
X—>+00 4,X3+X—X

§/x7+5+§’/2x3—3 .

2

15) lim

oo 848 337 L5 _x

17) fim (V52 +1-x? 1)
19) lim x(m_ Xj?

X—>+0

21)X/anw(\/xz—2X—7—\/X2—7X+3);22) lim XE(\IX3 1- x3—1):

Ix2+1-Yx?+1.

14) lim

X"”?’/x4+1—§/x4+1’

%/x4+3—§/x3+4 .

16) lim

X—>x0

3

Yx7 +1

1 e )

20) Xlinzw(wlix +a)x+b)- x);

X—>+0

4.2.8. {wpyt) $niGyghwh vwhiwbp

sin7x . arcsinkx

. I .

D x>0 sin6x’ 2) o0 x 3)
sin3x _ox2-1

4) x—0 arctg2x’ 5) i’g sin(x—1)’ 6)

. _ . . 2

7) lim sinx —sina . 8) fim sin ); . 9)

x—»a  X-—a x—-z 1+ c0Ss” X

lim

X . - X
10, Fimcosx© \Dim{t-xko

13) lim sl 14) jim 1095 X

15) lim

3

. arctgkx

lim g ;
x—0 X

. AT1+sinx -1,
im —;
x—0 X

. 1-cosx .

Ilm —2 )
x—0 X

1+ cos4x .

im ;
12) v % 1+ 8in2x
4

1+sinx—cosx |

x>0 (sinx )" ’ x>0 xsin2x x>0 1-sinx —cosx’
. 8in3x . sinx . CcOSaX —CoS fx
: lim ; lim ———————
16) )!Iﬁzf sin2x’ 17) xom 2 — x?2 18) XI—>mO x?
. 2 _ . 2 . _ _ A
19) fim sin 025 s:r27 ﬂ; 20) fim J1+sinx —/1-sinx :
amp - f x—0 tgx
_ - 1-cos6x
21y fim cos(a+ x)—cos(a- x) : 22) im :
X—0 X x—0 xtg3x
. tgx —sinx . 1-cos4x
lim =———; lim ———:
23)m, x3 24 arcsin® 3x
4.2.9. {upyt) niGyghwh vwhiwbp
2 3x Kk mx 1
1) lim (1 + —J ; 2) lim [1 + —j ;0 3) lim(1+ sinx)x ;
X—>+00 X X—>0! X x—0
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. 1 X 3X 4 5 2x+5 1 X
lim | 1+—| ; lim ;
4) XLI‘I_’I@( " x2j ’ 5) x%w(3x+ 2) 6) ’{IQZO[X - 1) ’
3x— 4\ 2+ 1) 1)
/ . . : .
7) xlaoo[ 3x + 2) ’ 8) X”C’O[ 2x 1) ’ 9) )!I_,ZZO[ x? ~ 1J ’
5 X x? . g2x .
10) lim (%} ; 11) /im[ ;( 2+ ZJ ; 12) X//Hmi(tgx)’ ’
X—o| X — 4X + X—>o\ ZXT +
. X, . ! 3
13) )/(:er) ¥1-3x; 14) /imo(cos x)} ; 15) lim (2x+ 5)x+2 ;
1 2
16) fim (2x+ s 17)lim(7- 203 18) him(5 - 2x)icz
X kx
19) lim LOM3 20)im &= 21y 4m &1,
1 Inx —Ina In( +05X)
im )
22) i’ﬂ; X 23) im x>a X-a X_’o n( +ﬂX
ax px
25) Iln’:)—e; 26) lim x/_ 1 27) Jim ’{ex - ]
X—> X x—0 X
28) fim x[ln(x+a) Inx]; 129) jim < e 16 30) /im ! (tex)f -1
x—>1 X— X= X
31) /im%' 32) IimM' =Ly
x—0 X ’ x—0 X ’ x—1 _1
. 1+3x -{1-4x x“ -1,
34) )/(’_% X +33) lim {<_>1 x? -1

4.2.10. <wpyty pniGyghwjh vwhdwln

1
1 - 2
1) Jim 5%; 2) im {ﬁ]x : 3) lim (ﬁ - 1F;
x—0 x—0 2 x—0
1 X+2 X x+1
— . 1+7 , 2"+ 3
) ime-v3[x; 5 gm T 6) im S
) 4x—1 _ 9. 5x+1 x=1 _ g 7x+1 sin x
7 i 35 %) iim 257 .9y fim X,
X—>t0 3. 4% 4+ 4. 5% Xx—>t0 Q.85 + 4. 751 X—© X + COS X
sinx _ x _ 2 . 1+ cos
10 lim £ 1, 11) lim 1gx; 12)//’"#;
) x>0 arctgx x>0 x3 x>1 19X
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x—0 Sin X X—©

13 lim 1-e". 14) lim x [1 cos 1)
) ’ x

15 : . 1Y .
) ){lgzo(cos x+1—cos\/;), 16) //m (H_”j (n>0);

. Incos b X _
17 lim —— ul 18) lim&—2_; 19 lim 2 2;
) x>0 x x>b X—b ) x—1 Inx

x+h x-h

20 jim 2 +a2 - 2a* 21)/ 1-+cosx . 22 im /ncost;
) -0 h x>0 1— cos~/x ) x-rlncos4x
23 | sin2x - 2sinx : 24, In(x + h)+ln(2 h)-2Inx :
) x>0 xlIncosbx ) h-0 h

. . 1
2 jim<2=cosx; 26 (cos x + sin x)x ;
) x=0 ) x—0

17" , 1Y

27 lim (cos x + a sin bx)x ;28) Jim 3+ ; 29 lim| 221
) x>0 xX+5 ) xow(2x -1
30 , (3-4x 7% - 5% 32 6% — 77

lim ; lim—————; im ————;
) Hm(5_ 4x) 31) x-0 2x — arctg3x ) x”;ri) sin3x — 2x

2 -2 2x -5x —

) x-02arcsinx — x x»o 2sinx —tgx ’ ) x>1log; x

36 ), lox-1 Wx+a-"a . 38 jim 21+ ax - W

) %ot \/X_ 17’ 37) )/(ig?)f > ) .’HO
4.2.11. Npnpt htn§yw) wlytpng hn p p dmlyghwlbph Yupgp
x — ¢ Guuniwdp (Gpp x - 0)

1) J1+x2 -1; 2) Si”%; 3) e* —cosx;

4) /n(1+ xz); 5) x(ex - ); 6) 3sindx — 2x?:
4.2.12. 8n)g wnwy, np htn§yu; wlytpe thnpp $nilGyghwGtpn
hwdwnpdtip GG (hpp x—0).
2
1) fx)={{ax+1)-1 ¢ g(x)=2x:2) f(x)=1-cosx ¢ g(x):X?;
3) f(x)=in(1+2x) ¢ g(x)=2x; 4) f(X)=arcsin% ¢ g(X)=%i
4.2.13. Npnztp htn§jw) whytipe v6o pmbGyghwbtph fupgp x-¢

(Quwudwdp (Gpp x >0 —)
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1) f(x)= (x + 1 ; 2) ()= :
X —
4.2.14. {wpyt| vwhiwp, juwunmwpbng hwiwnpdbtp wiytpg

thnpptiph thnfuwpphGnud.
: sinx _ [ 2

1) M; 2) i lim £ 1; 3) lim NI+ x® -1 _1:

x-0 In(1+ 2x) x>0 arctgx x>0 1-cos X

4.2.15. GGty pmGyghwjh fjuqiwl Yanmbpp § wunpgt] uquwG
plniypp
|x 4| _ x—1 . V2 1 .
l)y— 2y (x—2Xx—®’3)y_X S
_ _ sin2x X2

4)y_arctg;, 5)‘V_sinx—cosx 6) v = x+2°

4.2.16. GGt pmGyghwltinh fuqiwl Yhnbpp, wungb] fuquw
plnypp § Junnighy Gpulg gpudphlGhpp.
1

X . 1 1
l)y:2_M’ 2)y:2"*2; 3)y:1—2x;

S x 4-x*

4)y:2—)(2|—x|§ 5 V= 3"

4x — x

4.2.17. [hunui[iuluhph[ Inlyghwjh whplnhwwnnipjnbp

-1 1
1) y=X e, 2) y =arclg ;
) v - x+1 ) x? -

»A» 0<x<1 X )
3) ¥ 2 x, »A» 1<x<2’ 4)y:x-|-1_ln(x+1)'
8 3. dmblghuh wowligyuy § nhpbpblghuy
4.3.1. Qunlky $PmGyghwjh wowlbgjup, LiGhny wowlgjuih
uwhdiwlnidhg.

1) y=x7; 2) y=x; 3) y=e"; 4) y=Inx;
1
5) y=3x; 6) y =cosx; 7)y—X+§, 8)5’:7

4.3.2. Uyuwgnigh], np htn§yu niGyghwGtpp snGhG wowbgjug
Juw ypowynp wowlgjwy G2gwd Yhwnnid.

y =[x x=0; 2) y=3x% x=o0;
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5T 4. _ X, »A» Xe[O,'1].' .
3) y= —1hx=1; 4) y {Z—X, »A» X€[1,‘2].'X "
5) y=sinx,x=0; 6) y=|sinx, x=mkkeZ:
Supyby wowlgyuyGbpn
11 2 4
433. VTS0 434 yext - 125 0ace0n
1
_3 4.3 —
435. y=Yx+9x 43.6. y=+x X+3X
x n x?2 m? mx? nx\/_ p\/_
4.3.7. y—;+;+m+7 43.8. y= \/— \/— X
2
52 25
439, y=0m S n 2 4.3.10. y =Jx[x* ~Jx +1)
3
43,11, y= 2 rbxCre 43.12. y=(x? - 3x+3)x? + 2x 1)
(@+b)x

43.13. y=(x*-3x+2x* +x2-1)43.14. y

o

4.3.15.y=[2\@][4xﬁ+g} 43.16. v - {lx +2xI1+\/_+3x)

Jx
43.17. y=(2-1)x?-4)x>-9) 43.18. y =1+ Vx 1+ v2x [1+ V3x)
_5x2+3x—4 _x+1
43.19. y _T 4.3.20. Y—m
2
4321 y=— 4322, y - X1
x<+1 x+1
x2 —2x _ax+b
4323y —— 43.24.y="—
2 1
4325 y=—— 4326.y=———
x2 4 x+1 B 3
4327 y="7" 43.28. Y =1 3] 5
4.3.29. y=(x?+1 4.3.30. y = (1-x)*
4331 y=(1+2x)" 4.3.32. y =(1-x2)°
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4.3.33.
4.3.35.

4.3.37.

4.3.39.

4.341.
4.3.43.
4.3.45.

4.3.47.
4.3.49.
4.3.51.
4.3.53.

43.55. v=

43.57. 7
4.3.59.
4.3.61.
4.3.63.

4.3.65. v

4.3.67.
4.3.69.
4.3.71.

60

y: —
1+x  1-x

1+\/;

_1+\/§
1

Yy =Sinx +cosx

X
= 3cos—
Y 3

y = ncos(ax +b)

sinx X
= + -
X sinx
Yy = XSinx + cos x
y =cos® x

y = cos¥ (ax + b)

= +
Iox -1 #(X2+2)3

4.3.34.
4.3.36.

4.3.38.

4.3.40.

4.3.42.
4.3.44.
4.3.46.

4.3.48.

4.3.50.

4.3.52.

4.3.54.

4.3.56.

4.3.58.

4.3.60
4.3.62

4.3.64. y

4.3.66. v

4.3.68

4.3.70.

4.3.72

. y=sin3x

.y =nsin(ax+b)

. y=sin®x
y = sin*(ax + b)

.y =sinx?



43.73. v = COS(X + %j

4375. v = cos%

4.3.77. y = cos® 4x
4.3.79. y = sin(sinx)

4.3.81. Y=COSX—%COS3X

4.3.83. y =tg5x
4.3.85. y=ntg(ax+b)
43.87. y-= %tg"x

X+1

4.3.89. y = tg?

4.3.91. y=ctg¥d1+x?
4393, y =Jctg?x
4.3.95. y = arcsinx + arccos x

4.3.97. y = (arcsinx)?

_arccos x
X

43.99. y
4.3.101 y = arcsin(x 1)
4.3.103 y = arctgx?
4.3.105y = arccos——
x+1
43.107y = arctg® .

43,109y = xarccos%
4.3.111 y = cos(3arcsin x)

4.3.113y:arctg3%
43.115y =In(4x-1)

4.3.74. y =sinyx
4.3.76. y =sinV1+ x?

4.3.78. y = sin® x + cos 2x
4.3.80. y = (1+sin? x)*

4.3.82. y =tgx +cigx

43.84. y= 4ctg§
4.3.86. y = nctg(ax + b)
43.88. ¥ = 1g°x~tgx + x
4.3.90. y =1+ 2tgx
43.92. y = ctglx—x°)
43.94. y = Lotg®(2x-3)
4.3.96. y - xarcsinx;
43.98. y-—"

arcsin x

4.3.100y = Vxarctgx

2x -1

4.3.102y = arccos 7

4.3.104y = arcsin1/1_—x
1+ x

4.3.106y = arctg(1- x?)

X3

arctgx

4.3.108y =

4.3.110y = sin(2arctgx)

b+acosx
a+bcosx

4.3.114y = arcctg*\x
43.116y =In*x

4.3.112y =arccos
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43117y = Jinx
4.3.119 y = xlogs x
43.121y = x" Inx

43.123y = 1-Inx

1+Inx
4.3.125y =In"(ax +b)
4.3.127 y =Intgx
4.3.129y = In* sinx
4.3.131 y = Inarctg1+ x?
4.3.133 y =log,[log;(logs x)]

43.135y = (nx|

43.137y =Inx®(a+3x)a-2x)’

n (x+1 x-5
(2x - 1)3x - 2)

43.141y=2"

4.3.139y =

4.3.143 y = x10"
4.3.145y = xe*
43,147y =e* cosx
43.149y= 2
43.151 y = eV

43.153 y = 3%
4.3.155 y = sin(2*)

43.157 , _yor
4.3.159, _ 3"
43.161, _ ;70

62

4.3.118y = Inlx? - 4x)
4.3.120y = xlgx
4.3.122y = log,(x? 1)

Inx

4.3. 124},_7

43.126y =
4.3.128 Yy =Inarccos 2x
43.130y =

4.3.132y = Infin(inx)]

43.134y = In(1+ sin? x)

43.136y —n3=%
2-x?

n x!1+x )
Vi-x2

4.3.140y = xsininx

= Insmx

Inarcsin x

4.3.138y =

4.3.142y =

4.3.144y =

‘>< 'k|>< (.o|*

4.3.146y =
4.3.148y =
4.3.150y =

"CD
m"

2x+3)9x

102X*3

1
43.152, _ 5x
4.3.154y = asmix
4.3.156y = earsinx
43,158y = Vi

_sin?
101 sin® 3x

4.3.160y =
43.162y =a*x®



43.163 y = sh®x
4.3.165y =sh?x+ch?x
4.3.167 y = ch(shx)
4.3.169 y = th(inx)
4.3.171y = xshx —chx
43.173 y =ch®(2x +1)
43.175y = x*
43.177y =¥x
43.179 y = x°*
4.3.181 y = (sinx)
43.183y = (x*-1)°
4.3.185y = (x+ 1)
x—2P3x+1
4.3.187}/:%
43.189y = x*=
43.191y =a"
43,103y =322+
(x*-1)
4.3.195y = (1+¥xf
43.197y = arctg(x2 - 3x+ 2)
4.3.199 y = 3cos® x —cos® x

43201 y=(&+%}

—sir Xcta X
4.3.203 y =sin 3ct92

43205 - /n[x ia? x?)

4.3.207 y = cos2xinx

4.3.164y =Inchx
4.3.166y = th(1- x?)
4.3.168y = ehx

43.170y = e

_ Ty x 143
4.3.172y—2th2 6th

4.3.174y =th3(5x - 1)
43.176y = xx
43.178y = (x? + 1
4.3.180y
43.182y
4.3.184y = (Inx)"
43.186y = x"*

e ’¢x-2
431887 =" %
4.3.190y = x*
43.192y = x*

B / x-5
4.3.194y_ m

4.3.196y = /1+4/2px

4.3.198y =lg(x—cosx)
4.3.200 y = sinxe***

(cosx)

(sin x)"™

43202y = arctg X!
x—-1

9
43204y - V4 +2

3x*

4.3.206y = xarctg/x
4.3.208 y = arcsin+/sin x

X
2

63



4.3.209 y = arcsir(nsinx)

4.3.211y =log,(x? —sinx)
43213y —pXV1=x"
X

1
3215y =In——+—=—
4.3.215 ol
4.3.217 y = x*arctgx’

4.3.219 y = sin® x sinx?

43210y = sin{%j

43212y = xarcsin(lnx)
43214y = x10"

43216y =1+ x/x+ 3

43218y =10""

1-x

43220y = x|

43221y =va’-x? arccosg 43222 _ oinx

43223y =e™(asinx-cosx)  4.3.224y =xe" ™"
43225y = In(ex cosx +e ™ sin x) 4.3.226y =e* sinxcos® x

43.227y =in tg%— ctg /n(1 + sin x)— X

43228y =In{ xsinx1-x* |

43.229y = % 43230y = {1+ xe™*
4.3.231 y =Incosarctgshx 4.3.232 y = arccos iz: ;1
4.3.233 y = (tg2x)"? 4.3.234y = m
43235y - X a0l 43236y - X
43237y = %arctgx +%arctg 1—Xx2
43.238Y = (7_(’;;)‘238;0)?“
43239y = —;(3— XN1-2x - x? + 2arcsinXT+21

Jx—1

4.3.240 y = (arctgax )’ 432417 = \/

H(x+ 2P (x+3
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(x-2f o (x+2f
(x=1°(x-3)" 43.243.y = (x+1’(x+3)*

43244y - (1+%) 4.3.245., _ m
43246y = Jla- x\x-b)-(a-barctg /i:z

4.3.242Y =

4.3.247. 8mjg wmwiy, np y = %‘32_)() PniGyghwl pwywpupnud
X —
dy 1 .
t 1+ a + m = O hull,lwuulpdulﬁ[l

3+2x, »hu —§< x<0
4.3.248. f(x)= 2 : 8nyg wwi, np f(x)-A
3-2x, »Au 0<x <E
wplnhwwn £ x=0 Yanmy, uwlwG £(0)- Y qnmipjniG
sm(h:
4.3.249. 8niyg wnwy, np y=xe* dnmllhghwl pwjwpwpnui L
xy' = (1= x)y hujuuwpiwp:

_X2

4.3.250. 8Smjg wwy, np y=xe 2 $pmGyghwl pwjwpupmy t
xy' = (1 - xz)y hujwuwpdwn:
4.3.251. 8niyg  wmwy, np y= arcsin<3x - 4x3) dnGyghwG

pwyjwpwpmy £ v/7- x? Z—y =3 hwjwuwnpiwln:
X

1 x x?
4.3.252. {upyti y =|0 sinx cosx| dniGyghwjh wowlgjwin:
x e 1

43.253. Qumlt]; y=3x*+4x*-12x*+20 Unph wjyG Ytwbpp,
npnlgny wmwpwo  npwithnnlGipp gqmquwhtn GG
wpughultiph wnwGgphG:

43254, y=x’-7x+3wyupwupnh  n°p Jhumd  wnwpjuo
onpwthnn G £ gniquhbin 5x +y - 3 = 0 mnhG:
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4.3.255. Quit] b-Y ¢ c- Y wylwhu, np y = x* + bx +¢ wupwpnp
snpwithh y = x mnhnp (47) Yhwnn:

4.3.256. Guquty htwn§ju; Ynptiph npuwthnnh  §  Gonpdwgh
hwjuwuwpnudGhpp.

1) y=3Yx-1(10) Ywnmy;
2) y=tg2x, (0:0) Ywmd;
3) y=Inx Ox wnwlgph htinn hwndwG Ytnnud;

4) y- arcsinXT_1 Ox wnw(gph htin hwuniwG Yhnns;
5) y=e"", y=1 mnnh htn hwndwG Yhwnnd;
T
=sinx| =;1| Jtwnniy;
6) v smx[z J Jiinnt

3
= % x = 2a wpughuny Ytwumnd;
+

2
8) y= % x = 3 wpughuny Ytinnud;

7y

9) y=-Jx+2 x=1wpughuny Yhnm;

10) y? = P (a,a) Ytunnud:
4.3.257. Gt htn§yuw;  PpmGyghwltph Gpypnpn  Jupgh
wowlgjwGtpp
) y=e; 2) y=sin’x; 3) y:(1+x2)arctgx;
4) y=/n(x+\/az+x2j; 5) y=x°+7x%5x+4;6) y=InY1+x?;
7) y=xe"; 8) y=val-x’;  9) y=e;
10) y =arcsin(asinx);  11)y = 1+1x2; 12)y = a+1\/;;
13)y =In(x—\/1+ xz); 14)y= (1+ xz)arcctgx ; 15)y=x":
4.3.258. -nn Jupgh
wowlgjuGtpp
) yesin o 2) y=ol 3) y=hn(t+x);
4) y=e; 5) y=cos2x; 6) y=6e";
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1

=] b): — yoX - __ .
7) y=in(ax+b); 8) y=xe*; 9 v=_ 5’
10) y =log, x; 11) y =In(ax+b); 12) y = xInx;
13) y:%; 14) y = sin4x +cos4x:
X —

4.3.259. Qulb] Ay-A ¢ dy-Ay=5x+x* $mGyghwjh hwdwp,
tipbh x=2 Ax=0.01:

4.3.260. Gulity y =cosx dnillghwjh nhptiptiighwip, tpti x = %

Ax =2 :
36
4.3.261. Gt httmn§ywy pnmGyghwbtnh nhtipklGghwGtpp
1) y=xinx; 2) y=arcsin£; 3) yzin;
a X
4) y=e"Inx; 5) r=ctgp+cosecp; 6) r= 5222—%/ntg%:
4.3.262. Onfuwphlny $nmbGyghwyh wdép nphdtpklGghwny,
dnunwynp hwpytp
1) cos60°; 2) tg44°; 3) e%?; 4) arctg1.05;
4.3.263. Gunlt] pnlGyghwltph dnnwynp wpdtpltpp Gpwo
ytwmbpnu
1) y=x-4x*+5x+3 x=1.03; 2) y=+1+x x=0.2;
1-x . 1-x? .
3) y—31+xx—0.1, 4) y-e", x=105:
4.3.264. Gl wlpwgwhwjn dniGyghwyh

wowbgjupy, -A§ x, —A:
1) x°-3xy*+2y°=0;2) ye*-2x+4=0; 3) cos(xy)-x-y=0;
4) xe’ —ye* =0; 5) x’+y’-3axy=0; 6) x*+y*=x?7?;
sin(xy)+ cos(xy):

N glxey) D Y= 9) 242 =2,

X—y=aresinx — B ( ) ~ ( )
10) " arcsiny 1) y=cos(x+y);  12)x=cos(xy);
13)y = 1+ xe’ ; 14) X = y*; 15) x5 4 5 — a9
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xsiny-cosy + '
+cos2y =0 s 17)y=x+arctgy ; 18) y sinx —cos(x—y) =0,

1 1 1
19) xz 42 — a2, 20) y’ cosx =a’sin3x:

4.3.265. Qunlt; wuwpwitmpwwl ntupny wnpduwo pniGlyghwjh
wowlgjwin [d_y ~A¢ ax —AJ

16)

dx dy
1) x=at? y=at; 2) x=acost y=bsint;
3) x=acos’t y=asin’t; 4) x=(0-sin0) y =a(t+cos0);
t+1 t-1
5) XZ%"V:T; 6) X:In(1+t2) y =t-arcigt ;
7) x:go(1—sin(p),y:gocos¢); 8) x = e'sint, y = e' cost ;
3at 3at?
- Y= ; 10) x=1-t2, y =t-t°;
9 1+t° 1+t° ) Y
11) x=acos’g, y =asin’¢p; 12) x=Int, y =t*-1;
13) x = arcsint, y :In(1—t2); 10) x = atcost y = atsint ;

15) x=2e"y=e":

8 4. dhplpnbilGghuy huipyh hhvGwlul pbnpbdGhpp,
b nph pwGudgp, Lnyhunwh ulnlp

44.1. 8mjg wmwy, np f(x)=x-x°* $nlGyghw [0,7] hwnJuonid
pwjwpwpmu E Onph pbnptidh wwjdwGGGphG § qunlbg
dhowlyjwy Yhwnnp:

44.2. Pujupupn®d b wpynp f(x)=3(x-2f pmGyghwb [0,4]
hwwnywond (knph pinptidh wwjiwGGtphG:

4.4.3. Uwnnigly, np f(x)=x2+2 § o(x)= x> -1 $mbGyghwbtpp [7,2]
hwnjwonmd  pwjwpwpmd GG Unphh  plnphdh
wwjiwbbtphG: Gunlb] dhowblyjwy Yhwnp:

4.44. Lnyhwwih JulnGny hwpyt) vwhdwp.

x}-2x? —x+2. XCOSX —SinX .

D puid X -7x+6 2 x* ’
. tgx —sinx - fgx
lim—=——; lim

3) Im x—sinx ’ 4 tg5x >
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Inx .

5) Amxes 6)
Insinmx . X
7 m ; lim(1- x }tg — ;
), Insinx ’ 8) Hv( kg 22
. T .
9) lim(1-cosx)otgx ; 10) M
- xctg —
2
11) fim Incos x : 12) Jim X —arsctgx :
x—0 X x—0 X
. X —S8inx e” —cosax

lim ; im————;
13) % - tgx ’ 14 e™ —cospx’
15) lim X —a ; 16) Iim[xsini} ;

Xx—a X” _a" X—>00] X
17) //m{( -0’ kgL } 18) lim[(x - 2arctgx)inx]:
4.4.5. Lnyhwwh JulnGny hwpybkp uvwhiwGGhpp

1 1 5

; X - lim lim x5
D XILr+naoX > 2) H3(X 3 xZ-x- 6] )

3 —bx. tg% 1 tgx.
ot Dwfezs omfy)
7) lim e +e” ; 8) /im(ctgx)ﬁ; 9) I/ma Lol ;

xon g% _ g% X0 x=0 X —d*

—-e ¥ -2x ; X 1 1 X
z - 4. lim — - —1; Mim — ——|;
IO)QL’Z x—sinx ll)xw{x—1 /nx}’ 12)1%1(/,” Inxj
. Inx . AN
Jim = (a >0); 14) Xlerij—a(a >0); 15) Qg?)(ctgx - ;j ;
a\/; X
e —1 . 1

lim : \ .

16)im——=3  17)lim(e" L x)s 18) gggo[n Xz] :

4.4.6. <tm§ju $mbGyghwltph hwdiwp qpbp Obynph pwlGwaé§n
x =0 Ytwuh powlwjpmu, pynbGhny n=>5.

1T .
2) y_m>

5) y=aresinx:

sinx

3) y:T;

1) y=xcosx;
4) y-e*;
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44.7. Oquytiny Obynph pwlwd§hg hwpydty hbn§juyg
utonipyniGGtph dnunwynp wpdtipGtpp 0.001 Gunnipjudp.

1) sin31°; 2) e 3) n0.993:
4.4.8. Uwwgnigt] wihwjwuwnpnipnilp

D oJx >3-1 (x>1);2) e*>1+x; 3) x = In(1+x) (x> 0);

X
4) 2xarctgx > /n(1 +x2); 5) In(1+x)> a1rctgx (x=0);
+X
6) Sinx<x_x_63+%50 (x>0); 7) sinx+tgx > 2x [0< X <%);
X2 X2 XZ
8) chx21+7; 9) cosx21—7; 10/n(1+ x) > X== (x> 0):
449. Qunlk htn§uwy  ImGyghwltph  dnGnunnlnipju
uhgwluyptnp.
1) y=x>-3x+2; 2) y=X)_(2; 3) f(x)=cos(6x+2?ﬁj;
4) f(x)=x3—l; 5) f(x)=xlnx; 6) f(x)=x+sinx;
X

7 fx)=x-e; 8) f(x):g— Ix;  9) y=arcsin(1+x):
4.4.10. GGk htnn§jwy $niGyghwGtph EpumpbidimiGhpp

2
1) y=x"-3x"+3x+2;2) y:L":Z; 3) y =x-In(1+x);
4) y=x%"; 5) y=2sin2x+sin4x;6) y="—;
X

7 y=/n(x2—4x+1); 8) f(x)=x*-2x*; 9) y=xInx:
4.4.11. Qb htnn§juy $nbGyghwGtph ninmighynpjwb § gnqu-
Unpnipjuil dhowljwjptipp § 2peuwl Yhnbpp.

1) y=x’-6x*+12x+4;2) y=x"-6x°; 3) y=sinx;

4) y=Inx; 5) y:(1+x2)e’x; 6) y=x%Inx;

)y i iax; 8 y=arotgr—x:
4.4.12. GGt $mGyghwltph wuphdyunnunGhpp.

2
1) ¥ (

; 2) y=—2X—; 3) V=——;

x°’ -4 x?+3

x - 2f
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4) y=x-2+

7 y-= In(1+ x);

2

X
Vx?+6

5) y=e™

1
8) y=er:

+2;

1
6) y= )

1-e

4.4.13. {tnwgnunti $niGyghwb § Junnigh; gqpuphyn
1) y=x"-6x"-36x+5;2) y=—-;

H = (X(x %

7) y=x-cosx;

10)y = x(1+ e*x);

13)y =l+4x2;
X

16)y = x—ln(x+ 1);

19)y = X+/”_X
X

22), 7.

—-6x+4

25)y = X X+ 7.
)y 2
_12-3x%
x?+12"°

31)y = (x-2™;

28)y

34)y =In

X +1;
2

37y :\/(Z—X)(x2 —4x+1);

39)y =3x%(x+2)%;

41)y — esinx+cosx ;
43)y — e\/Esinx ;

b

3;

X
1’ 3) y=12x-x%;
3x?-6x+7 .

= =X+ Sinx;

’) ¥ x2+2x+2° 6) v =x+ ’

8) y=x%"; 9) y=xInx;

X \ X2 .

1 e*
=xZ4+— w=2.

14)y 0 15y .

N . 1
17]y=x3e 5 18)y:ex_1’
20)y =Incosx; 21y = x - 2arctgx ;

17 - x| oo xP—ax

Br=sr MWiaey
2_ 2_

26)y:X 3X+3; 27:y=X 4x+ 1,

x-1 x—4
29)y = (2x+3)e?; 30y = (3-x)e*?;

er—Z . e3,x

32y =55 3By =5

35)y =3In—*__1; 36y = 2mx+3

X_

38) y:\/(x+2)(x +4x+1),

40) y = 3x?(x - 4) ;

42) y =In(sinx + cosx);

44) y =

(\/E sin X)

4.4.14. {tbmwqnunt $niGyghw § Yunnigh) gpuphyn
1) x=t2+3t+1y=t>-3t+1; 2) x=t>-3x, y =t>—6arctgx;
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3t y= 3t? .
1+’ 1+t2°
5) X = 2acost—acos2t, y = 2asint-asin 2t

3) 4) x=te', y=te-t;

6) x=acos’t y=asin’t; 7) p=sin3p;

8) p=algp; 9) p=all+tgp);
10) p =a(l+cosg); 11) p=a(1+bcose) (a<0; b<1);
12) pz\/g; 13) p = ae™
4.4.15. GGt dniGyghwyh vhowqgniyl § thnppwqniyG wpdtipGtpp
(pywo vhowlwjpni.
1) f(x) = x? + 4x, [05]; 2) f(x)= x+— [102:100];
3)y =x*-4x+6, [-310]; 4) y:\/5—4x, [-1:1);
2 2
5 y=2", [-15]; 6) y=a7+1ti—x (0<x<1)(@a>0b>0);

7)y=2tgx—tgzx (0<x< j,S) y =x* (0.1SX£+00)Z

4.4.16. GGk httnn§jwy Ynptiph Ynpnipjniln

2 2
1) xy=4 (22) Ywnnu; 2) %+%:1 ququipGhipmu;
vt 4u3 2 .
3) y=x'—4x-18x (00) 4) y*=8x (2 3) i,
ytwnnuy; 8
— 2 .
5) y =Inx (1.0) Yhunm; 6) 7 _I”(“ VT x )(0’0)
Jtinnud;
x* +y® = 3ax 3a ga
7) y =sinx (—j Jtwnnuy; 8) y? = 3axy 2
lGwnnug;
X2 2
9) y=x°; 10)?—§=1;
2 2 2
11)y =Insecx; 12) x5 4 ys — 53,
X" oym X.
S =ach>
13) 7= pa=1 14) y =ach—;

72



15)x=3t%, y=3t—t° »iip t=1; 16) x=acos’t, y =asin’t;
17) x = a( cost +tsint), y = a( sint-t cost) »fiy t :%;

18) x = 2acost —acos 2t, y = 2asint -asin 2t ;
19)p=2a% p=1¢=0 Ytmn;20 p=agp; 21) p=ap*:
4.4.17. GGt htm§yuy Ynptiph Ynpmpjwl ppowlughon Gygwo
ltinnud.
D y=x* (1) Yhwnm; 2) xy =1 (1) Yhwnd;

3) y=e* (0;1) Yhwnnud; 4) y = tgx (%;1} Jhunnud;

5) (x2 +y2)x-2ay2 =0 (a;a) Ytwnmu:
4.4.18. GGty htwn§yu; Ynptph  Ynpmpjul  YtGupnGh
ynnpnhGuwuGtpnp Gywo Yhnnd

2 2
D y=x" (11); 2) %—%:1 (23;b\/§);
3) x§+y§=a§; 4) y°=x" (aa);
5) x=3t y=t"-6; 6) xy=1(11):

4.4.19. SpJuo 2p wyuwnpwagho nilignn ninnuGynia

tnwGlyniGGtphg n"nG niGh dhowgnyG dwybpbu:

4.4.20. a npwluwl phyp wmpnhty Gpynt gnuiiwpbjhGiph wjlGytu,
nn (pwlg wpmwnpjuip thGh dhowgnyyGp:

4.421. Spjwo R wnwynny qlnhG Gtpgqoty dhowqnyylG owywy
niGtgnn YnG:

4.422.SpJwo R wnwynny qlnhG Gtpqoty UWhowqnyG
ynnuGwjhG dwytin§nyp nGkgnn quu:

4.4.23. Spywo EhyuhlG Gtpgot) dhowqniyyG dwlbtptu niltignng
ninnuGlyynil wGwtiu, np Ynnitpp gqniquhtin {hGkG Ejhuyup
wnwlgpGtphG (qunbh] ninnuGyywb Ynnutpp):

4.4.24. y=7 12 Unph Ypw qulh; wyG Ytwbpp, npnlGgny
+ X

nwpjwo nputhnnltpp § Ox wnwlgpp Juwqumu GG
wibklwdbo unip wlyyniln:
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4.4.25. L oGnpnny YnGh thodwopp ¢ YhGunpnGwlwl wilynilng
utiyuinp k: hGyyhuh® o -¢ nhypmy YnGh owquwin YihGh
dtowqnyGn:

4.426.9nlt; R wnwyhnny YhuwrpowbhlG  Ghpqowo
wibklwibo yuwpwqho niGbgnn ninnuiGlyywb Ynndtpn:

4427 . hGyyhuph®G@ wbtwmp t hGh  wpdwd dwlybptiu mltgnn
hwjwuwpwupmG  Gowlljul  quqwph  wllyymGp,
npuybugh wyn  GowGljuwlp Ghpgowd  powlwqoh
2wnwyhnp thGh witklGwiton:

4.4.28. Gty mywo nnnuiljuwll wpnmwqowd witlwihnpp
dwltiptiu nGtignn Eihwyuh dwltiptiup:

44.29. 2x*+y?=18 thwyuh Ypw wpjuo bG  A(74) ¢ B(30)
ytwmtipp: Uyn tihyuh ypw quGtl] wjlyhuh € Ytwm, np
ABC tnw(ljwl dwytiptup {hGh wdtGuwdbon:

4.4.30. SpJwo GG a, a, ..., a, pytipp: hGyyhup® x-¢ hwdwp Gpw

2tnnuiGtph  pwnwynupGiph gmudwpp wmpjwo  pytiphg
YthGh thnppuignyGp:

4431. 9x°+4y?=72  thwuh n°p Yhumd whwnp b wnwlh
2n2uithnn, npubugh wyn 2nwihnnny § Ynnpphwlwnwjh
wnwlgplbpny Juqijwo bGowllyjul dJwybptup (hGh
thnppwqnt)Gnp:
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